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@g&ég & 82Q0h

Brothers A and B had some savings in the
ratio 2 : 3. They decided to buy a gift for their
sister, sharing the cost in the ratio 1 :2. After
they bought. A is left with two third of his
amont, while B is left with Rs. 185. Then, the
value ofthe gift is.

A 5805 B en 38 Bdden a8 T0F
erraire $gk AYPB 2:3. 78 v SOV 0
568 1:12 3Y8S® 390D af 2508
553363. 2508 EHBoRS A 85 i ndovoleton
2/3 S0k reHH T1IGond B $¢ wose 185
B, 00 DADD @ond 50 PO Jo&?

1) 140 2) 222 3) 240 4) S*’cﬁ?go"atﬁcﬁ)

If(a-b) : (b-c) : (c-d)=1:2: 3, then what is
the ratio of (a+d) : c.

(a-b): (b-c):(c-d)=1:2:3 @ons (atd): c
Qend Do&?

1) 2:3 2) 2:5 3) 2:1 4) 1:2

A man has divided his tatal money in his will
insucha way that half ofit goes to his wife,
2/3rd ofthe remaining among his three sons
equally and the rest among his four daughters

equally. Ifeach daughter gets Rs. 20000, how
much money will each son get ?

2.8 58 08 B 6 InFo S S HiSore
oz, S50 é@“éx& OSEJ grss, MADI
%3"2533&65 2/3% S0 @& S0P BHPBHOH
Jdrdore, gose ADI 55"533&263 S8
B3°8eB Jedorre HoB. aEYE) L3S
20,000 &r.en 0o, &8 BHIrHEE dod
©oHD1?

1) 50333.33 2) 48233.33

3) 53333.33 4) Srodo HOFEL>

Sneha, Lekha, Rekha are Partners ma busi-
ness. Sneha, whose money has been used for
6 months, claims 1/6th of the profit. Lekha,
whose money has been used for 8 months,
claims 1/4th of the profit. Rekha has invested
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Rs. 4200 far 10 months. Then the contribistion
of sneha to the capital is.

'(50&{7", S, O SnHE> a8 m?gavdoés
GRHRRIE00eD. 'ﬁ)&&? 85 P8 6 Jo vt
&0 080 ergfos® 1/65 Hodir Frothsod.
By 33 Dead 8 Jvo o oD FwFo
o508 1/4 Ho& ergio odheod. B 4200
&0 10 Joo artn afg@f’éoés SOTLD. @D
'ﬁ)&&? o epals Jod?

1) 1750 3) 2500 3) 2250 4) 2000
A and B enter into a partinership. A supplies
whole of'the capital amounting to Rs. 45000
with the cordition that the profit are to be
equally divided and that B pays A interest on
half of the capital at 10% per annum, but
receives Rs. 120 per month for carrying on

the concern. Find their total yearly profit when
B's income is half of A's income.

A, B en 358 80% 2.8 o)) [@P80fomedd.
R 3o epad 45000 Er.oH A a¥)d
Q) I8P DEpD. 88 IS ergrl)
J&edorre HohdHT. B (@8 Doddvo A
283 2enads® SKgrio DS 10a80 $&
BYowrd. HBAw (8 Jo B &5 dgorr 120
Ee.en &08red e DEOHBDTND. &8
Jod&Bo Soxd B @) ewraho A &)
emrcHos? Hrl8 $Erdo wond 068 SO
I&o ergo Dos?

1) 2200 2) 9180 3) 1890 4) 8910
At Persent ratio's of ages of wife and hus-
band 4 : 5. After 15 years their ages ratios
11:13 at the time of marriage their ages ratio's
3:4. How many year ago they got married.

ayéeg, Jo (DR Sohdye 253&5?3 QG 4:5.
15 %0.0 SHard 770 Schde gy B
11:13 darsio 20NIPLd a°0 S 25365?3
QY8 3:4 wond AY Do.o Bo Jardeo
20h0B?

1) 12 2) 14 3) 10 4) 16
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7.

A put Rs. 375 more ina usiness than B. A
invest far 8 months while B for 4 months. If
the share of A is 75 more than that of B out
oftotal profit of Rs. 125. Find the capital in-
vest by A.

a8 a;g@%oéﬁ A, B 859 370 Sr.e0 D85
"‘oaéaoma)& '33@263. A 8 Joen, B 4 Jeen _“oaémmeo&
'33@263. A SBwE) ergio B &5 75 &. . DEN.
Sw&o ergio125 Ere.en o A égald Jos?

1) 700 2)650 3) 600 4) 750
Population of a city named Gautam in end
2016 was 80000 which was increased by
26% and 22.22% in year 2017 and 2018
respctively. In year 2019 Jokker Killed so
many people and there was a certain percent-
age decrease in population, again in year 2020
population was increased by 36.36%. If
population of city goutam at the and 02020
is 1.05 lakhs, find by how much percentage
population of city has decreased in year 2019
?

aeer 2016 D50 PSS oI $Kso 80000,
56 2017 $H8ck 2018 KosHBos® Hhdre
26% S00A50 22.22% 0dBA0H. 2019
B058)808° &8 wrer $H08 Soared LB
srgrs® D0Y T80 o sob. B 2020
B08)808® wmrgr 36.36% HBACH. 2020
DH0 S B Sii6 ez 1.05 oFen oS

2019 éo:ﬁé{\)éo@’s S8 a33°8° Do BeB0

é@o&?

1) 37.5% 2) 33.33%
2

3)415% 4) 30%

Expendithre on wheat of a family is 28.56%
less than rice, Expenditure on rice 12.5% less
than pulse. If expenditure on wheat, rice and
pulse are increased by 9.5%, 17.5%, and
12.5% respectively and total expenditure is
increased by Rs. 540 than find total income
of family if other than this expenditure family
saves Rs. 500.
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10.

I1.

12.

2.8 Héno0 (ﬁmé&ﬁséaéaei&_) B &0‘53?30 Bo&
28.56% &%, HAhgop Hgoho By Sod
12.5% éé)&é. fEsooen, é)o‘ﬁa?go, JYOP P
9.5%, 17.5% 0850 12.5% HBAS Swdo
&oﬁaego 540 Sre.e0 1ONOH. &8 LY SPHOT®
Sen0230 500 &r.en etr T HEN00 INBo
8P EfPSod?

1) 4500 2) 3500 3) 5500 4) 6500
In a election Karina and Katrina Participated
2/5th ofthe voters promised to vote for karina
and on voting day 15% of the voters went
back on their promises to vote far karina and
25% ofthe voters went back their promises
to vote for kathrina find the total number of
voters if kathrina wins by 750 votes.

28 JoESE® Ede Bk B8 PETHD.
o [rosos® 2/5% Hok Hod b Léw
JF0 @ Sty @I, JoFS Serd SO
B¢ DO 0S° 15% Ko I98), BT
005 BBTE Srer wS T6S° 25% 08
I BHTD. wowd Y@ 750 Ly B
RenSPoBn. ®ond 9 (FPoB0 R Jos?

1) 30000 2) 34000 3) 28000 4) 37500

2
Abook seller sells a book at a profit of 1 65%

Ifhe had bought it at 12.5% less and sold it
far Rs. 240 more he walled have gained
42.84%. The cost price ofbook its.

2
2.8 HRS°O TR a8 HYSAY 165% g8

3. ©EH A 12.5% SE B
s50ffen DR 240 Gr.e0 ©HE 8 ©) ol
038 42.84% ergfo TEFTO. @owd & HIESW
&wé&?éﬁsm B8 Dos?

1) 2540 2) 2880 3) 2620 4) 2780

A and B purchase an article on same price.
Latter on C purchase both article from A and
B at Rs. 240 each fromA & B,. But the profit
% of A was p%. While profit% of B was Q
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13.

14.

15.

%. since B calculate his profit on SP. If C
sells one ofthe article to D at P% profit. What

2
is the cost price for D. (Q = 41§%Pj

A 80 B en Bokh e e 5
85500 Fd. Shars C, A 58050 B H0d
§f%on I, (K8 oD 240 S
gorfen S0, A DS 33y ergo P%, B 2
263;) ergfo Q%, B 8 $OS ergio oS o
8803, C a8 090 D 8 P% ergod®

2
3%, wowd D 930 Jos? (Q = 41§%Pj

1) 576 2) 500 3) 490 4) 540
Abusiness man sold a T.V. 940/-. After 8%
percentage discount. In this transaction, he
fot 19.6% profit. If there is no discount then
find the profit (%)?

2.8 ogard a8 8.9.9 8% wrond 19y 17940
B, 0% @a)éé) 0308 19.6% o Si.
©and Trond H®W a&ﬁ&égowé o8 FE0 Do&?
1) 20% 2) 25% 3) 22% 4) 30%
AT.Visavailable for Rs. 35000 cash or Rs.
12500 down payment allowed by 3 equal
annual installments with 20% p.a. simple in-
terest. Find each installment amount.

o8 8.0.9 §%@8 35000 &r.on s%Q
BYoSHEN. e 12500 Er.en TR DR
EB 20% $0F DG THPS 3 BITS O
) o G o)
TFanTOE® BY0oTIW)D. @ o0 2.8%8) FeonT®
Qoes?
1) 8500 2) 7500 3) 9000 4) 10000
Ifaman receives on 1/4th ofhis capital 7.2%
simple interest, 5.3% of the remaining 2/5th
capital and on the remaining capital 5.8%. The

total amount received by man after three years
1s 82600. Then find total principal.

28 eden &r.of® 1/4 HSok P 7.2%
$EBens® HADS rsoys® 2/5 Sois 5.3%
$EBend®, ADS grreR) 5.8% $EBen TS
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16.

17.

OIPrT &Y 3 Ho.0 w8 wHSd [Heedo
0900 BwFo g 82600 Er.en @0& wden
dog?

1) 82000 2) 75000 3) 70000 4) 78000

A person borrowed a sum at 6% per annum
and returned Rs. 8400 after 1 year. Now the
rate of interest is becoes 5% per annum on
the rest ofthe amount. Ifthe interest. of sec-
ond year is 13/20 of first year SI. What
amount was borrowed.

2.8 8 Eo8 eden Srarairod K0.08 6%
$EBexn TP @Hpre BER SodE)So Soxd
8400 &Br.en IYowrtd. 2P DADS Se.o
2 5% 5836 Soth. It Ho5E)80 ertbe?
Bois HosBBo wrdds 13/20 Hodh o
©ond eden Qoeé?

1) 30,000 2) 60,000

3) 40,000 4) 70,000

A train meets with an accident twice n its entire
journey. Train travels 150 km meets with an
accident and that the speed. of trainbecomes
2/3rd of the original speed with this speed
train travels for 200 km and again meets with
an accident an then speed of train becomes
1/3rd of'the original speed. This train reaches
its distinatin 9 hours late. Ifboth the accident
taken place 50 km father from both the acci-
dent point of first case. The train would have
reched its station 2 hours eareles then the first
case. Find the speed of train.

a8 Beo o BnBo (Hosreeos® Bowd Sy
(B&meQ8 808, Bew 5HeNBBH [BEF0 Hod
150 8.2, 39S Sos  (HSroe8 KD ©H&
5008 o oo SKos® 2/3 Hoskh SiKos
BairBodos. & 3508 $&° 200 8.8. IS
Boxd H8° (HErGSo 2BASHE T eben
308 1/3 Hokh IrKo&® I HeSogremedy) 9
Koten @wekgorr B6od. &8 I Dok [HETTeen
&ree 58 50 8.8, oot IS Sox «6n
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18.

19.

20.

608 © Bew SwHHB oo Bo& 2 KHotoen
Swodore HgeaeR) 38 Godd. wawd Bew
oden JKo od?

1) 60 &.v./K50. 2) 50 8.8 /0.

3) 65 &.. /0. 4) 75 &.8. /K50

A person travels 120 km by steames, 450
km by rail and 60 km by taxi in a journey.
The speed ofthe train is thrice that of the taxi

1 . )
and 15 times that ofthe steames. If the time

taken for his entire journey is 19 hours. Then
the speed ofthe train is.

a8 8 &9 (5mea0s® 120 8.8, er0d &ois,
450 8.8, Ben w08 e, 60 8.5. erdy o
S, Ben 208 S5, eyé\) S8 3 Bey

1
L8050 erod I8 17 Bey @) 3ngo

(BS5rerd8 18 Kobren HAB Bew 208 Hiisw
Qoes?

1) 60 2) 50 3) 45 4) 42
Two trains of lenghts zoom and 180 mrun on
parallel tracks. WHen running inthe same di-
rection the faster frain crosses the slower one
in 38 sec. When running in opposite diruction
at the speeds same as their earlies speeds,
they pass each other completely in 5 sec. The
speeds of the faster frain is.

200 . B0 180 . LD Bokd 3%
Both D088 Here DORKETHOD. O 2.8
83° N B K% Jos® 5%%} Sen
BED SKo&" 5%{9 oD 38 Eogest
N8, ©F Ired® JHBHE IS 38
©d a8 A HEES 5 dBogS® wrenaron.
TS &S Jfo&® 38T Bew Srfo DoB?

1) 43 2) 45 3) 50 4) 60
A ship is 77 km from the shore, springs a leak

. . 1 . 1
which admit 2Z to of water in every 55

min. An outlet tank can throw out 12 tons of

UNIQUE STUDY CIRCLE
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21.

22.

water per hour. Find at what speed it shauld
move such that when in begins to sink arescue
shipmoves with 6 km/hr esapes the
passengars of the shipit 69 ton of water is
enough to sink.

28 8.8 &80 L008& 77 8.8, S80St &od.

1
BIEP DEEIE &8 OF S (H8 55 Q.08

1
2Z ey)en D .68 BHod. a8 £3°508

a8 Hobed 12 Lo DB 20heEEH
Do, & &K I8 69 e %
DODEH0D. & & SobKK0 (FPB0BoNSIPD,
b Jod IK08° (Hasrdosto Sob 6 8.8.6
Ko. SKos&® SSrBod e 6(650223315
BDoirBHes Higsorr searEod?

1) 6 km/hr 2) 8km/hr

3) 10 km/hr 4) 12 kmv/hr

A boy starts from his house at a cerfain time
with certain speed to pickup his girl friend
from office at 5 pm. one day his girl friend left
har office at 3 pm & starts walkingwith a speed
of40 km/hr & meets the boy in the way who
left his house at his usuae time they reached
home 40 min eariiers than their usual time.
Find the speed at the boy.

a8 K8 B ol G Dok §od $HchHos®
Fcsol@o 5 Kot $:5 2rEioren @os) @i
08 Pickup Sodoers. =0 2.8 &% 85
_(50&3’5"530"0) 3 Kotred 2cHencd 40 8.8./Ko.
50838 (HorBohHe I B YIPHI =0
26365?365 O, 500 & e B?ijo?gezgm S0
J00o 83 40 .en Znothre EenoBroertd.
©oNS @B TnE) S50 Dos?

1) 300 &.5v. /50. 2) 200 &.&». /i50.

3) 350 &.&v./i50. 4) 400 8.%./i50.

Three pipes A, B, C are attached to cistren.
A, B fills the tank in 30 hrs and 20 hrs & 3rd
pipe C leaks aout 45 litres of water per
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23.

24.

25.

minute. [fall the three pipes are opened. The
tank will be filled in 15 hrs. Find the capacity
of'the tank.

St Do A, B, C oo 2.8 e5088 0% &
0w, @RS A basn B en 30 $8ci 20
Ko.08® Dodrend) HBSH HrEH H C
DAPB 45 Heoben DB grd Bosws. Hurtd
2De0 280 (0o @ ol Imwdo 15
750.&° Qothrd. eons ¢3°308 580 Jo&?
1) 162000 &. 2) 173000 d.

3) 16000 . 4) 168000 .

4 men & 6 Childern wark for 6 days and earn
2100/-. Again, the same wark is done by 7
men and 11 children far 10 days and they earn
6250/-. Then find how many days should 5
men and 8 children wark to earn 2250/-.

Jenthd Hodven, 6 H dyeo 6 &eren H
32 2100 B.en HoPHBID. HBAN O HAJ
7 D5 HBoHen, 11 Hod dyen 10 &eren
$Q B2 6250 E.en HoFBID. wond 5 5o
PGy 8 Hoh dgen 2250 Ir.eo
Boareoserdd ) Beren HQ BorD?

1) 6 Sfawren 2) 5 &%xen

3) 12 &%en 4) 8 &%ren

P and Q together can complete a work in 30
days Q and R can complete same work in 40
days. The wark was started by P and he
worked for 20 days, then of fer Q warked
faor 25 days and R completed remaining work
in 30 days. The number of days required far
P alone to complete the work is.

P $8cio Q 882 a8 92 30 &ers® $r0
Sohed. Q 6o R 0% ©F 2 40
Berod® g Tabriewn. PO Iwdennd 20
S0 B8, Q 25 Seren T, Mifae HA
R 30 &faros® rg B3, P afd 3ndo A
A Bler® ey Bodhrtero?

1) 50 2) 60 3) 70 4) 80
Kamla took Rs.6800 as a loan which along

UNIQUE STUDY CIRCLE
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26.

27.

with interest is to be repaid in two equal an-
nual mstalmants. If the rate of interest is

1
12 5 % compounded annually then he total

interest paid is.
ES 6800 K. 0k o S8, $E8° S
PR BoD DS BE T onTEOS BB,

1
2.8 3¢ S5 127% eons 589 5§ 2087

1)4050 2) 1400 3) 1300 4) 1250
The compound interest on a certain sum at

2
165% per annum for 3 years is Rs. 12700.

The simple interest on the same sum with same
rate of interest and for the period is.

2
8058 0°08 165% FEPS 3 0.5 ol

oyl JBDE 12700 Er.o0 ©owSd. ©F
sz @08 $E0enE® ©08 D8 Fersen
58 Dod?

[
1) 9600  2) 10800 3) 12000 4) 10200

In a cricket team, the average age of eleven
players is 28 years. Out ofthese, the average
ages of three groups of three players each
are 25 years, 28 years, 30 years respectively.
Ifinthese group the capitain and the young-
est player are not in cluded and the captain is
eleven years older than the youngest player,
what is the age of the captain.

2.8 (88¢5 &S 11 £r06 eérrE) Viitn H05:)
28 Ko.en. OO 3 Hh TS SOAS 3
(e séredy) Siien Schdgen b 25
D0.e0, 28 Ko.e0 0833» 30 Ko.en. &8 Koo
(DS BRSO VY Sy SOAS
@) F0HY) DJITPoN0TESE. BPS BwE)
DAYy B DDy BONS @éored DAy
go& 11 Ho.ed DENH. @O BPS @)
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28.

29.

30.

31.

H0HY) Dos?

1) 33 2) 34 3) 35 4) 36

A coaching institute has students in 3 batches
X, V, . In a certain examination, the average
marks obtained by these batches are 72, 60
and 50 respectively. The average marks of
batches x and y taken together 1s 69. If the
ratio of the number of student in batches y
and z is 6:7. What 1s the average score of all
the three batches put together .

2.8 5°D0R aSersBSe’ X, y, Z & Hoetd argSe
Dergoen ealo. @ H0etd P00 B0E) D5
Soenen SOOI 72, 60, 50. X SO yaj"’?SSQJ
RBoog), difén 69. 'y B Z “Dwf’?gé(gez dogge
055 DB 6 :7. 00 5etH eRgHen ELHE
B30 Sednen dod?

1) 59 2)6.16 3) 63.5 4)64.7

A sumofRs. 12 ismade up of 30 coins which

consists of either 50 paise or 25 paise. How
many 50 paise coins are there .

2.8 $0DE* §°Q) 50 o THBen HOER) 25
0 THe sanow. Iwgo Ay 12 Er.eo
£r805» Indo B 30 ©and 50 e B
Qdogyg dod?

1) 12 2) 18 3) 16 4) 20

A certain number of persons can complete a
work in 34 days warking 9 hr a day. If the
number of persons is decreased by 40% then
how many hours a day should the remaining
persons wark to complete the work in 51
days.

o8 od JgHen BA a8 DA S 9
Ho.o THPS B Bdx 34 Sweos® Hro
Sahed. H Td 0 oz 40% éfg?s_on
DifEe T SPerd A Hobren HY Soho
S0 @ $9 51 Seres® o Sohresd?

1) 12 2) 10 3) 8 4) 9

The LCM of two numbers is 12 times their

HCF. The sum of HCF and LCM is 403. If
one number is 93, then find the other number.

UNIQUE STUDY CIRCLE 7

32.

33.

34.

Both Dogyge E. .15, 938 & Qdogge A F.5°. %
12 Beyp, & Dogy ... SBa%H K.&r.ge. ©
S0gdw 403, & éoa)?ge)és a8 éosp?g 93 ©wond
Bo&Sd Hogy dod?

1) 124 2) 310 3) 155 4) 93

A train starts full of passengers. At the first
station it drops on-third ofthe passengers and
takes 280 more. At the second statio, it drops
one-half ofthe new total and takes 12 more.
On arriving at the third station, it is found to
have 248 passengers. Find the number of
passengers in the beginning.

a8 Bew @déﬁ%éaoé’s Qo&BnHB. 065 ?56\33’15
58 Swgo BHSrBHed® 1/3 S0 Hardte
BT, B0 280 ok IS, Bk JRS
D8 (DKo éég@dﬁm%éa@@& Qdfo vod BR.
20800 12 H08 AFb. MrED HRS H Ko
BasrdHe Sogy 248 @ond e @ Beodt
BDirdde Sogy dos?

1) 240 2) 248 3) 280 4) 288
There are five committes A, B, C, D, and E
in an industry committee. A meets every sec-
ond day, committee B every third day, com-
mittee C every fourth day, committee D ev-
ery fifth day and committee E every sixth day.
Then the number of times all the five commit-
tees meel on the same day, in a span 0f 240
days is.

2.8 $8EHs® A, B, C,D,E o3 5 80éen &
Tow. E0B A 8 Borster, 508 B 18
St e, S8 D ©8 08 %, Sd
D 58 20585 &%, 80& E (X8 o585 &
J5rSo @Hzran. @wany 240 Sere KHSE
5 80éen o8 S méa?fiéo_:i)?g Kam?go‘ﬁroea éogp?g
Qoes?

1) 24 2) 5 3) 3 4) 4

Find the sum
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36.

37.

38.
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111 1 1 1 1 1 1 1 1
+—t—+—+

@Dé&_ Qend No&?

7 11 15 17
1) g 2) E 3) E 4) E
Match the following.
(Bod B 2388580 ?
Q) (1827)*° 1)1
) (2153)" 2) 3
2) (5129)” 3) 5
4) 7
5) 9

1) o-1, -4, 2-3 2) d-4, -2, -3
3) -1, -4, -5 4) d-4, -3, d-5
In a book with page numbers from 1 to 80,
some pages are form off. The sum ofthe num-
bers on the remaining pages is 3113. How
many pages are farn off.

1 o0& 80 8% Joaddy EOAS a8 HEos®
2.8 D8 @08 Both Dfen VIR BHer S ©
H8S® Ko WADS Do KSogy Fwgo 3113
@00 & DA Pond DHED Ko d Jos?

1) 33, 34 2) 43, 44 3) 53, 54 4) 63, 64

The ratio between the length and the breadth
ofarectangular park is 3 : 2. I[fa man cycling
along the boundary of the park at the speed
of 12 km/hr completes one round in 8 min-
utes. Then the area of the park is.

a8 ég SEYIE TP, BwE), TN, e
S8y DB 3: 2. o8 8 DESD dheren Howe
12 8.8./fo. 308 Hoirdidr el (g0
8 VeS8 8 Q.0 Hoaho HroBI0h. @and
& e GoE) TPeg0 JoE?

1) 15360 2) 153600

3) 30720 4) Db

Six circles of diamefar 10 cm. Each are bound
together by a rubber band as shown is the

UNIQUE STUDY CIRCLE

8

39.

40.

41.

figure. The length of the rubber band if it is
stretched is.

8od DBost a8 HE a0 10 0.8,
B8 HHToH HES ey el PEDH dod?

1) 60 - 107
3) 60+5 11

2)60 + 107
4) 60+20 7

The area of a frapezirm is 140 sq. cm and

opposite sides are 12 cm and 16 cm respec-
tively, then find the distance between oppo-
site sides.

2.8 (EHBc%o @o¥), o0 140 $.20.80. @
(E22HoS% D AHBB ghere Sleoden 12
200.80. 16 20.80. @ond @ Bo ghere Ky
&80 Noes?

1) 10 2) 20 3) 30 4) 40

A man published 3500 books far 3,50,000
at cost price. He give 500 books free to
some book shep. He also allowed a discount
of25% and marked price and give one book
free far every purchased of 29 books. Find

the amount of profit (or) los. If the marked
price of each book 1s 160/-.

e &8 3500 sHXseesn 3,50,000 &r.ost
So(5oBKn. TRS® 500 Hyseen Q) rHS ¢
DBore HF0. S 29 Hiseen 5 7708 25%
Trowd 59) &8 YXBo &DBoTT BT, © HYBo
D) (HBLS Jo 160 Sr.en @ond @SI8
orgisn (Bor) 550 Deod?

1) 2500 S50 2) 2000 ergo

3) 2000 S50 4) 500 o

Write

54243 .
77483 inthe form , 4 5./3 find a,b.
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42.

43.

44,

;:jﬁ Q 4+p38FH0S (D ab o
BP0,

1) a=11, b=-6 2) a=11,b=6

3) a=6, b=-11 4)a=-6,6=-11

A hemispherical bowlis4 cm inr adius. It was
complefely stuffed with coffee. The coffee
inthese jar is paured in to a tall come shaped
vessel, withradius 8 cm and height 16 cm what
is the valume of the rest of the cone in that
conicalvessel.

a8 @gﬁsg;wsvézén (S T80 4 20.8. 28
HE® o oHabs. & FBSED =20 8
200.3. TRLo, 1620.80. & EOAS Fognd)

sxdo Ko FBS® P e FoHH exbo Ko

PSS® DADS P H0$HBETR0 Jod FSO.
1) 88.2% 2) 87.5%
3) 80.5% 4) 81.6%

Sixteen cylinarpcal cons, each with a radius
of 1 unit, are placed inside a cardboard box
four in a row. If the cans touch the adjacent
cans and as the wall of the box, then whic of
the following could be the interiar area of the
bottom of the box in sequare units.

2.8 a5 agP80 Ko 16 Jralrsed SERe
a8 c:a)ve)és (58 $%88° 4 SO0 soGee
TN (08 5%° HT°E 5% S ey D)
Ao @ ¢otnod. ®and & ey tHIH
grifo ($8¥o RBooE) B0 DY) BHBY AR
O,
1) 16 2) 32

3) 64 4) 128

—4
The common ratio of a G.P. is 5 and the
. .. 80 .
sum to infinity is ry Find the first ferm.
—4
a8 2138@65&@5 3%33*326?3 S@g ? HoBFn wdos

80
Sore Inso ry oS IS HEo Dod?

UNIQUE STUDY CIRCLE 9

45.

46.

47.

48.

49.

1) 14 2) 16 3) 12 4) 10
cos 4 N cos A _

l+sin4 1-sin4

1) 2 sins A 2)2 cosA

3)2secA 4)2tan B

A bag contains 3 blue, 2 green, and 5 red
balls. If four balls are picted at random, what
is the probability that two are green and two
are blue.
2.8 $028° 3 deo, 2 D) B0 5 5D
BorH 20&en STNW. o‘iﬁtﬁaz‘%éow 4 200
DoDE TS Bokd DY) O Both oo
Bord 208 505¢r8 Qogreyd Dod?

3 1
3) g 4) 5

OE YT 2 -
18 70

In how many different ways can the retters

of the word TRANSPIRATION be
arrangod so that the vowels come together.

TRANSPIRATION o3 $&Sost U
dgi DD ok DForr A Sseenre

@25361:)2563;)?
1) 24, 29, 500 2) 13, 60, 800
3) 16, 27, 800 4) Db

Arrange the frations in desending order.
& (80d §I)H00do 05855 (EHost

@2536;)0&?

711522138

4°8°2°19°10°5
57811322 71152138
2°4°5°8°10°19 4°8°2°19°10°5

5371812 722115138
2°410°5° 819 4°19°8°2°10°5

Varma started a work shop with an invest-
ment of Rs. 1,00,000 and after every one
year he invested Rs. 10,000 more. After 2
years sharma joined him with Rs. 1,25,000
and he doesn't invested any more amount.
After completion of four year fromthe open-
ing of work shop, if they earnad a profit of
Rs. 2,13,000, then the share of varma in the
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profit is.

(@r8090D), (K8 [oHS B oSk egborr
10,000 &wr.© "‘oaéaama)& 'aé%gcfo. Botdh o yooe
SHaed 1,25,000 8r.0 30808° §5) 0898
Voo, © SHard 8 wBsH Iweeds v
Db _“oagéci). $GarS (@PE0RoDIH)E
008 Trentd YodEyTren FPEonSHHB8 et

dods?
1) 1,38,000 2) 1,56,000
3) 1,88,000 4) 1,75,000

50. Due to increase of 32% in the price of pulse,
a person reduces his consumption in such a
way that his expenditure increases only by
10%. If he consumes 150 kg of pulse after
the price has increased than how much pilse
was consumed by him inilfally.

BHp O 8 32% 1BKLO Dy w8 KB | 54
& AT SBROHBI0ErD. SwTe @S
D8 10% IrBSH DrHE&00. 8 DOAS
oo @8 150 8P Hpd %08 wdn
o&EE Dod HIPH DIBTACETE?

1) 180 2) 175 3) 190 4) 200

Direction (51-53) : Study the following sequence
and answer the following questions.

B85 (51-53) : 2O (3B 550009 Bod BEHoH
BEoerredBnen Beo)sm.
STU#?2JIPQSLS@C3S*A$62

BR£97

51. T#J,1QL,5CS, ? B£9
1)*A2 2)S$2
3)*$2 4)*$ B

52. How many symbols are there in the above
series of elements which are immediatly pre-
ceded by letter and immediatels followed by
digit.

25 ad)S FAS dY rHthen, ©FBHH Swoth
H0B0I» o8 SHosres SOA GoRD?

UNIQUE STUDY CIRCLE 10

1,00,000 &r.0 enads® &) ol $EFHH | 93

55.

56.

1 2)2 3)3 4)4
Which element is 9th to the left of 9th ele-
ment fromright if 1st half ofthe above series
isreversed.

23 8 (BB s SKgrros® &y

Soreddnen zé?gé’ééé BIS® (RS BBt Bo&
008 9 HrreBRNHB A JHS 95 Swreso
DB?

1) # 2)J N1 4)?

2,13,000 e°grR) H0ar0R, @ oo’ $8) o | Direction (54-56) : In a certain code 'O is coded

as'N', 1 is coded as M, 2 is coded as MN, 3
1s coded as MM, 4 is coded as MNN and so
on then answer the following according to this
code.

$058 (54-56): 28 58St O N, 15 M

e, 25 MN e, 35 MM e, 4 % MNN e
&8 32 S00050 ADS @oBen D0ge Yo
Q5Sorr 6 DS & HoerR wgedore (§obd
(DHOB J&rerdo BenHm.

. Which of'the following reperesent 50 in this

code?

& H05PRSt 50 @), 558 H1A?

1) MMNNMM 2) MMMNMO

3) MMNNMN 4) MNMNMN
Which number is coded as MNMMNM?

» Sopg MNMMNM re 888 Bohartn?
1)42 2)43 3) 44 4) 45

Find the code for the value of the following
expression.

&S (808 IWETdn BwE) DeodsH §%&

BenDHH0?

{MNMN % MNN} y { MMNN x MMN}

MNM MNNN
1) MNNMNNN 2) MMNMNNN
3) MNNMMNN 4) MMNNMMN

Direction (57-59) : Eight Persons A, B, C, D,E, F,

G and H are sitting in row and some of them
are facing North and some of them are facing
South. A faces North. B sits third to the left
of A. Only two persons sit to the right ofA.
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Only one personssit 1 between F and B. F sits
immediate right of E. Both the immediate
neighbours of B faces the same direction. Only
one person sit in between E and H. C sits
third to the left of F. B faces the opposite di-
rection of A. G does not sit at any of the ex-
treme ends. D faces the same direction as E.
Both G and C faces the opposite direction of
H.

S5 (57-59): A, B, C,D, E, F, G 50600 H &3
8 oob Sg¥en a8 BBERE® Ere8y)0BK B0
B 08 H00d 3Ben 68T HEH HOE KB
$8ee BID IrHSoRHh. A 688 BI
Hehioa. B, A £ 35 ks 3 ErEn)oq.
A 6 58 FHI a5 e Sr(BDh ErEnoaD.
F 805 B o o5 2.8 &8 o@D Erdy)om.
F, E & 886 8 3 &r52)0850.B & sdogde
&:3) Hgen &8 HED SrhiHord. E $rdasn
He S5 a8 $58 &b srdpoae. C, F &
35 D BH Ertn)odn. A SRR 8D
35808 838° B srdnoan. G $038° a8
DB ErE$oewd. D $8cio E e a8 o36®
Erdnoa. H &rd)s) 8% 55838 688° G

8k C en Erdyyoa.

How many persons are facing south.

t58es BI Qo0& 0l rHihoRH?

1)3 2)4 3)5 4)2

Who sits 3rd to the right of E.

E% 35 H&32 9858 Sednd?

1)D 2)C 3)G 4)A

If B and A are interchanged their positions
then who is exactly between B and C.

A 508050 B en 288 FXxns’d8 B5EH
DEGBo s B obain C o ogly 5%
Eodn?

DHE 2)H 3)F 4)G
BOARD :LYZWI :: CLOCK: ?

1) XOLPX 2) OXLPX
3) XOLXP

4) OXXLP

57.

38.

59.

60.

UNIQUE STUDY CIRCLE
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61. Statements : 1) Some Books are Papers
2) No Papers is Pen
3) All Pens are Rings
Conclusions : I) Some Books are not Pens
II) Some Pens are not Books
[IT) Some Papers are not Rings
IV) Some Rings are not Papers
1) Only [ & II follows
2) Only I & 11T follows
3) Only I & IV follows
4) Only I &1V follows
(D8I 1 1) §Q) DYBoen, seASIeD
2) @ A0, DY) 5D
3) ) XYe», dorHen
Soyssmen: 1) 590 HJESwen, Diyes 52
II) &) 2en, HHEL0en 52D
III) &) seASSnen, Borben S

IV) &) dorbhen, seASHnen s°eh
Direction (62-63) : Find the odd man.
QeSS (62-63) @ YHhore &HB Beoddmw.

62. 1)8H2 2)5J4 3)6X8 4)7V6
63. 1)\56+392 2) \30++/150
3)/90 + /800 4) 7124576

Direction (64-65) :
If A+ B means A is the Sister of B
A - Bmeans A is the Father of B
A x B means A is the Wife of B
A - Bmeans Ais the Son of B
A (@ B means A is the Husband of B

QeSS (64-65) A+ B odre A, B &) 8560
A-Bode A, B &) $ol&
A x Bode A, B &wg)rss
A - Boste A, B &) ©55606
A@B o A, B &) 355

®ond

64. How is 'P related to 'Q' in the following ex-

pression.
& (808 BA)P J8Bewo wgrdore P, Q %

NX0K?
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65.

67.

68.

69.

P@QK+N+LxM-Q=2?

1) Brother 2) Brother-in-law
3) Father 4) Cousin

1) BB 2) e [ 86

3) Sol& 4) §85

If'X" is the maternal Uncle of "Y' then which
of'the following true.

X, Y &) DS wond & (od A
JBBIS d&?

)X+L+K-MxY

)X :P:KxT-H@Y
3)X+:P-KxT-H+Y

HX xK-NxM-:=Y

Direction (66-68) : Complete the following series.
&3S (66-68) : 3 (800 (3B K8 Tosnsm.

66.

67, 80, 88,104, 109, 119, ?

D125  2)127  3)129  4)130

132, 14, 432, 29, 435, 50, 654, 77, ? ,

?

1)875, 118 2) 675, 110
3) 765, 120 4)579, 130
SLPXD,HBTPW,ATXFL,PJBX

E, ?

DIBENT 2)IBFMT

3) ICFNT 4)IBEMT
Statement : Somking has increased at public
places in the current year.

Course of Action : I) Government should ban
smoking at Public Places

IT) Government should Create awareness
about ill effets of smoking at public places.
1) Only I follows

2) Only 11 follows

3) Bothe I & II follows

4) Neither I nor II follows

(BEOS (D8 ?602595‘36@066 a&eSon
EPEOTPH0 DENH oS

EDFD S8gen : 1) ©ghS0 ardor Biwes
Broardo Basne a8PBoTd.

II) @ahdto @erdor (@BaaTes® rdrarso

UNIQUE STUDY CIRCLE

70.

71.

SBne Sod SIS 8o K080 (HmoH
XIS 8 owd.

1) I $m(@dH 9686

2) I Se(&3 6058

3) I 06050 11 56556

4) I 58050 11 358525

8412:7::9911: 7

1)8 2)9 3) 11 4)10
Which of'the followng is true from the given
expression.

&5 (808 B 58860 eerdore Hi%) KOS
BEPGEH0 KV0HEN?
B>L>H=P>M>T>Q

DB>Q 2)Q<B 3)T<L 4)L=Q

Direction (72-75) : Seven persons A, B, C, D, E,

12

F, and G are to be interviewed for Trainee
officers by different panels I, I1, II1, IV, V, VI
and VII for different companies T. P, Q, R,
S, T, U,and V but not in the same order.

B is interviewed by panel I'V for company P.
D is interviewed by panel I1I but not for Com-
pany R or S. C is interviewed for company
Q but not by panel I or II. F is interviewed by
panel VI for company. T. Panel VII conducts
the interview for company U. E is interviewed
by Panal I but not for company R. Panel I1
does not interviewed G.

o5 (72-75): A, B, C, D, E, F £805%m G % 7

% SgHen (B 8P 8D T I JIS)
L IL IIL, IV, V, VI £8c5n VII 0% & S
go2den P,Q, R, S, T, U $8050 V 0&® do%s
©F0E yobdriwr JFIPoTl s°
$BREH0S® s, B & @"?3266_ IV, 8025 P
6% sotssm o, D o 56 1 soestieg
F2% 500 o0ndew R & md S& e seeko. C
B 802D Q 58 motrdmyg B TR @b
RS 1 e, 11 e soeh. F & S VI,
Bo2d T 8% [OEETS B0, 596 VI,
8o U 5°8% &oa. E S a6 1 moeodog
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UNIQUE STUDY CIRCLE

72.

73.

74.

75.

76.

77.

B0 500 @6 ond R & =0, >35S 11, G

% B0ty BoHS.,

E is interviewed for which company.

E % 9 802 565 motdry B:0?

1) Q 2)V 3)S 4T

Panel II conducts interview for which com-
pany.

536 11 O Bod §6% wotadm B0?
1)P 2)Q 2)S 4)R

Who is interviewed for company V.

V 8021 §°6% 569 motdg B0?

1)B 2)D 3)E 4)F

Who is interviewed by Panel V.

FGS V 50 motatiegg B0?

C 2)A 3)B 4H)G

Raju facing North and moves 20 km, then he
turned to his right and moves 20 km and then
he moves 10 km in North-East, then he turned
to his right and moves 20 km and then he
turned to his right and moves 20 km, and
again he turned to his left and moves 20 km.
Now in which direction Raju s facing.

1) South-East 2) North- East

3) South- West 4) North-West

oer @0 H58 e¥s BIS® 20 8.8, Erdo
(DBoBD. wEH S HE IHIKH 8BA 20
8.5, rBo (HoSrdoBn. LHds» 10 8.5.
B80Sy BES® HosrBoB. Kb &5
$HE IHVL, 88A 20 &.H. SFSEH0D0
(DSrBoRH. 505 20 8.8, Erdod S5 HE
SDOS%H 8BR%. VK0P 20 8.8, S5 LS
FPHIH 8BA (HASeBoRLD.

1) etchso 2) BemeRigEo

3) Seod 4) a7°o‘53325§o

Starting from Anand's house, the school bus
takes a right turn and covers 3 km. Then, it
takes a left turn and covers 2 km. Finally. It
takes a right turn again and covers 4 km to
reach the school. On reaching the school, the

bus faces south east. In which direction was
the busfacing when it left Anand's house.

13

78.

79.

80.

1) South - West 2) South - east
3) North-east 4) North

83086 BwE) s SE Dol e b @R
B8 FH$H 80A 3 8.8, 580 (HASTBoTL.
AEB JHIE 888 2 &.Do. SrSodd
(BSBoB. HBY HE JHIH B6A 4 8.5,
R0t HAPROD B BB TEERD. K
55% SSHp © oty ehohin B3
Sodd. ©ond 808 Fng) m08 ¢
BOHEDBEBHE 2x0) @ BES* Lok,

1) Seood® 2) ee?%&o‘éazﬁn

3) Bazedgm 4) &S5

A clock is set right at 10 A.M. on sunday. It
loses 8 minutesin 24 hours. What is the cor-

rect time when the clock indicates 9 P.M. on
next sunday.

28 BEArES0d ehardo &, 10.00 5% $8
S, ©8 24 Hotrwd 8 A, BHAHod
é'séi)éoo&. Boxd 2531:) LaYvilelo IR Mafatorvvitele)
2. 9:00 ErDoDHERONE, @6 STPoBBRS O
@00 JHoho doe?

1) 9 PM. 2)9AM

3)10AM 4)10 PM

A clock goes slow from midnight by 5 min. at
the end of the first hour, by 10 min. at the end
ofthe second hour, by 15 min. and the end of

the 3rd hour and so on. What will be the time
by this clock after 6 hours.

28 KRS80 @gm@é Jabo Hod 5 .
Jdyore Bwsd Kots EE) VPO Jchos®
10 Q. Bé}é&)m, Doy Ko o‘j’aoé& DHO
JSHrchost 15 Q. Bzéaé&rw, Ko Koy @wé&
LB DroSoe® et dgorre SB JOXG.
©oNS edhriobe JHHdho ST & KEATEo

V0o dog JedoHdn?

1)6:00am 2)5:30am
3)6:30am 4)5:15am

23rd march of a general year was Tuesday.
Then what was the day of the week on 17
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July ofthis year.
28 Jeprdes éoz‘éé‘\)éo@‘s S8y 238 36%
SvoES80 zéz‘ﬁ)z:)zﬁn. ©ond ©3 éo:ééé“)éoé’s
2~8 175 80 O &% S5)%0?
1) Friday 2) Sunday
3) Saturday 4) Thursday

81. Independence day in 1984 was elebrated on

Tuesday. In which year was it celebrated on
same day.

1984 S0 8ot Jeeg oy AAEARTS
HoXFarso wdDHHLond, HY Jdolds
BSEE D0 HoNFardo d $oIS)Bos®

280 B0ETX0.
1) 1990 2) 1991
3) 1992 4) 1993

82. How many triangles are there in the following
figure.

& (B0 Heos® @aHaow dogy Dod?

1)33 2) 18 3)31 4)29

83. How many squares are there ion the follow-
ing figure.
& 8ob H08° SHERB0 dogy Dod?

D12 2)18  3)16 4)14
3 6 2
v 16Ds 562 ()2
2 3 9
)37  2)45  3)47  4)57

UNIQUE STUDY CIRCLE
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o © 438 s2 1 5
. (196
1)5335  2)451  3)154  4)702

Direction (86-88) : In the following diagram, the
circle prepresents college professors, the tri-
angle stands for surgical specialists, and Medi-
cal Specialists are represented by the rect-
angle.

SrsS (86-88) : & (8o ey Hwswd® FEn
SBE @08y KrDohd. (Bgbadn V0SS
?oa)o“q@eﬁoazé), 08050 8525» JHZRXSIn RES
)ROROD o,

86. College Professors who are also Surgical spe-
cialists are represented by.

9885 POJo ©ond 5o8E ([ HIG
JrDoD ([@PoBSn 6?

A 2)B 3)C 4)D
Surgical Specialists who are also Medical
Specialists but not Professors are represented
by

égéé ?oo)a’qé’Jé ®o» NEES ?oo)o“qé)ée» ®ond,
TS [P05) 5°Q a6 FDoH (oo DB?
1)B 2)C )X 4HZ

C represents

1) Medical Specialists

2) College Professors

3) Surgical Specialists

4) Medical and Surgical Specialists

C 3o00% (oo &?

87.

88.
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89.

90.

1) HAES )0

2) s°8E (€7 G)

3) $OES NROF

4) FAES HBSD BOES WKOF

Ifthe given interchanges namely: sings + and
+ and numbers 2 and 4 are made in sings and

numbers, which one of the following four
equations would be correct.

& (Sod ad)d Lé@?gzéw&o:fozéoo@é"sfb
$EEBeasnestd + LBk + He, 2 LB
4 o Joggeld SEHIRG 39‘05@50”3 I8
$&08Be0 ¥8 wond @iHd?

1) 2+4+3=3
3)4+2+3=4

2)4 +2 +6 =15
H2+4+6=8

Direction (90-91) : In the following questions, the

symbols @, , #, $, %, * are used with the
following meanings as illustrated below.

A (@ B means A is not greater than B

A # B means A is greater than or equal to B
A'$ B means A is neither greater than nor less
than B

A % B means Ais less than B

A * B means A is neithr less than nor equal to
B.

Now, in each ofthe following questions, as-
suming the given statements to be true, find
which ofthe three conclusions I, 11, and III
given belwo them is/ are definitely true.

A@Bosm A, B 85 286 soth

A# B o A, B 859 286 B D555
A$ B ose A, B 859386 7, 95)05°
A% B odre A, B 82 958

A*B o A, B 859 958 50, 985008550
Slad)

Statements : K @L, L% N, E#N
Conclusions : ) K% E
IDE*L
)N *K
1)Only [ and IT are true
2) Only liand III are true

91.

92.

93.

15

3) Only I and III are true
4) All are true

D8eken : K@L, L% N, E#N
Qedesen :I) K % E
IHE*L
)N *K
1) I $805» I $8 evondéd
2) 11 $o8cs» 111 %6 e@andd
3) I S8050 IIT 58 ©ondd
4) ) B8 oI
Statements : D $ T, T * P, M@ P
Conclusions : 1) D * M
IHM%T
) D#P
1) OnlyIis true
2) Only I and II are true

3) Allare true
4) Only I and III are true

@80den : DST, T*P, M@ P
Qedesen : [) D * M
IMHM%T
I D#P
1) €0 | %8 wondd
2) 8desn [H5080m 11806 e@andd
3) &) 98 ©ondd
4) Edodn I ot I 88 @wondd
A printer numbr the pages ofa book starting

with 1 and 3089 digits in all. How many papes
does the book have.

2.8 (D068 a8 HIEEwER Do Soggon
B85 o501 S0 I0Eens® Iodo 3089
®080H GIRPACDS & YIEIWEER Do voiy

Qoes?

1) 1040 2)1048 3) 1049 4)1050
In a birth day party Ram stands 36th from
the left and Sohan stands 48th from the right,
when they exchange their position then Ram
becomes 48th from left. Whata is the new
position of Sohan from right.

2.8 SBSE & A8 FH Hod 365 3(;2606“5
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96.

97.
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0B B H& Y ol 48% ﬁgéoé’s
oK. I8¢ 80 ézﬁ;@gmeéo BE8YE K0
SrENB[EQoNT T D BH ol 48%
3(;26263326& S5y, wowd RS @»é&fgéo

HE JD Ho& Dos?

1)58 2)59 3)62 4) 60

In a zoo. There are rabiits and Digeons. If
heads are conted, there are 340 hehads and
iflegs are comted there are 1060 legs. How
many Pigeons are there.

28 308 @’365672%%)@35 BoBenen, 3ghen o).
o Hoo Qdogy 340 oBA» & ¥ dogyg
1060 &0, ©ond Ingo aPHTee Koy

dos? 99.

1) 250 2)150  3)300 4)None
Choose the simler one from given following
series.

& 8o BD)P¥enB0B Herswod® DPOS A
EAP0%0?

DA

EIENCICImIEI

(a) (b)
Human beings, Teachers, Graduates
Sososoen, Bisgy, HegicHen

‘ (09

3>QQ »(00)

Choose the odd one from give diagrams
& 8od QS8 Aorr GHTAD B0,

{u Cih ClC Mg Cm u

C M3 Uy Jm ue 3
@ (b) © =) ©

UNIQUE STUDY CIRCLE 16

98. Which answer figure is the exact mirror im-

age ofthe given question figure when the mir-
ror is held from the right at PQ.

& (8ol aS HEOIBH @Cgoe'i's (&o=00
R0,

Question Figure.
e
N
Answer figures
QPSP
() (b) © (d)

From the given blocks when 10 is at the bot-
tom, which number will be at the top.

& (8ot ad@id 08 @) Heswed® 10
o Dogy 8 3% P8 &), (8od grisos®
608 D B 6V0B0E &0 Vogg HB?

10 A e
ﬂ n!’

) II

1)8 )12 36 4)4

. A cube has six numbers marked 1, 2, 3,4, 5

and 6 on its faces. Three views of the cube
are shown below.

2.8 PIE ¥ o) eHddosne 1, 2, 3,
4, 5 08050 6 9 ®oSen o), Hda%m &
FDE D) JPF) Sewdoen (Bod akEo
2BASB.

DD

What possible numbers can exist on the two
faces marked A and B, respectively.

& (808 B Heos® A H0ao B .3(;26263365
&0H0E wdsedo 6J) wosww AD?
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1)2and 3 2)6 and 1
3)land 4 4)3 and 1

25385 JAS

101.

102.Match the following.
List-1 List - IT
(Wild life sanctuary)  (State)
A) Nandapha 1) Karnataka
B) Bandipur 2) Arunachal Pradesh
C) Periyar 3) Manipur
D) Lamjao 4) Kerala

UNIQUE STUDY CIRCLE

Assertion (A) : Dolly was the first cloned
mammal .

Reason (R) : Dolly was produced by in vitro
fertilization.

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1s false (R) s true

D@)BarEgo (A) : ©°® I0nsed 5‘;@05 BhadS
&sto.

%9 (R) : © E)8 KEyprse Txoe &)
Boha&ob.

1) (A) %80 (R) e Both a0 065
(R)(A) % 25630 D58

2) (A) 8% (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) 350 (R) evaedsdsson

4) (A) o58550 (R) ard8m

1) A-2, B-1, C-4, D-3
2) A-4, B-3, C-2, D-1
3) A-4, B-2, C-1, D-3
4) A-2, B-4, C-3, D-1
e BHBHED?
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103.

104.

edae-1 edae-2

) 308D 1) o8
) 20856 2) ©BEPISHIE
) 2BAXE 3) HodHrs
&) eoerst 4) 28%

1) -2, §-1, d-4, &-3

2) -4, -3, 2-2, &-1

3) 9-4, H-2, d-1, &-3

4) -2, -4, -3, &-1

Match the following.

List-1 List - II

A) Plague 1) Protozoa
B) AIDS 2) Fungus
C) Baldness 3) Virus

D) Malaria 4) Bacteria

1) A-1, B-2, C-3, D-4
2) A-2, B-3, C-4, D-1
3)A-3, B4, C-1, D-2
4) A-4, B-3, C-2, D-1

238 HEHE0?

ardar-1 erdae-2

D) 2 1) ©bePerar
) AIDS 2) HoKsd

2) aa%gée; 3) S8

&) L8605 4) arfoase
1) -1, H-2, -3, &-4

2) -2, H-3, »-4, &-1

3) 9-3, H-4, »-1, &-2

4) -4, H-3, »-2, &-1

With reference to the work of human kidney
consider the following statements.

1) After the waster is remove by the kidney
the clean blood is sent back through renal ar-
tery.

2) From Bowman's capsule, the filtered lig-
uid passes through tiny tubes where much of
the glucose is reabsorbed and sent back to
the blood inthe renal vein.

Which ofthese statement is / are correct.

1) Lonly 2) 2,only

3) Bothl and 3 4) Neither 1 nor 2
SIS DorEgdorreds Sopodod & (8od
(8K HoKBoLoE.
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105.

106.

1) 8§ wxo° zﬁ?go;ezzéa &R0 SoRE B

@S SEo BBA Jor@Dod I Teyo°

H0Deer0

2) R sveg?’.g)?:)eg 008 HEDEDDES (555 DI
TR IO 3HHEHob. BE)E e $eetE 8oh

((IdrosacoBiod. HHdASw Es2l8 86A

H0Hener0

Bod JTDoSes® D HBFHE?

1) 1,508 2) 2, Sw(BD

3) 1, $80502 4) &z

Blood pressure of four persons is given be-
low.

Mrs. (X) - 90/60

Mr.(X) -160/120

Mr.(Y) - 120/80

Mrs (Y) -140/100

Whose blood pressure is normal inthe follow-
ng.

1) Mrs. (X) 2) Mr. (X)

3) Mrs. (Y) 4)Mr. (Y)

Seorhd 88 Hikaren (Bod BH@EID

Mrs. (X) - 90/60

Mr.(X) -160/120

Mr.(Y) - 120/80

Mrs (Y) -140/100

2 08° 58 88hELo Ferdemore Gotnod.

1) Mrs. (X) 2)Mr. (X)

3) Mrs. (Y) 4)Mr. (Y)

Assertion (A) : Most of the vitamins are not
synthesised int he human body.

Reason (R) : Human organs synthesis only
essential micronutrients.

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1s false (R) s true

D@)BarEg0 (A) : Teer Qoeddxy K°8 488088
éoéé@a BhaEd.

HH (R) 1 5088 odcharen 0558309

ﬁ)“’é&@ﬁ&ﬁ?@@ Soo(830 éoé:ﬁe@ 33_3033

1) (A) %80 (R) e Both a0 0650
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107.

108.

109.

(R)(A) % 25630 D55

2) (A) 8% (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) 350 (R) evaedsdsson

4) (A) oa3550 (R) argd8m

Which enzyme can catalyse the conversion
of glucose to ethanol.

1) Zymase 2) Invertase

3) Maltase 4) Diastase

KpstEd agordm Srd)Eed8 O doZH
aB)S8ore HA Bod?

1) 8 2) 83QES
3) $rg& 4) BorRE
Auxanometer 1s used.

1) TO measure the rate of photosynthesis
2) To measure the rate of growth

3) To measure rate of osmosis

4) Tomeasure the loss of energy

oS DHes Bod BS' T Fosweds
GIDRNDEE08.

1) 88eaesdy oS (BOD Bendo

2) 2&rHSe Bendd

3) (BDEe Sewd

4) 38 $apQ) Fosels

Assertion (A) : An iron ball floats on mercury
but gets immersed in water.

Reason (R) : The specific gravity of iron is
more than that of mercury.

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1s false (R)is true

D@)Eaegg0 (A) :308EXP RS BdS208
Bendod. 520 IBS® SnIAPES0G.

% (R) mbsn @) 984 HHessem
JBBH0 Eods DEN.

1) (A) %80 (R) e Both a0 065
(R)(A) % 2630 D55

2) (A) S8 (R) en Both @350 =2 (R)(A)
% 9B Db S
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3) (A) a0 (R) earssn 1) arcsnd) 2) Erig0
4) (A) oaedssm (R) amddsm 3) (B0 4) Sergo

110. The value of 50°C in Fahrenheit scale is. 114. The radioactive elements used in heart pace
1) 104°F 2) 122°F makers is.
3) 100° F 4) 75°F 1) Uranium 2) deuterium
255 SeeS %&@@s 50°C Dens? 3) Plutonium 4) radium
1) 104° F 2) 122°F 25D DR HEBS® eHBrA0D BB (A OS
3) 100° F 4) 75°F Soreseen?

111. Assertion (A) : In an electric bulb, the fila- 1) c508a%0 2) ydocho
ment is in the form ofa coiled coil. 3) Kpestiaho 4) B&cHo
Reason (R) : A coiled coil filament occupies | 115. Heavy water was prepared by.
less space and is, there fore, not colled sig- 1) Aston 2) Urey
nificantly by the convection currents in the 3) Libby 4) Bethe
bulb. of these. arSe300 (808 0T ST Bohadod?
1) Both (A) and (R) are true and (R) is the 1) &8 2) 0558
correct explanationto (A) 3) 08) 4) 38
2) Both (A) and (R) are true but (R) is not | 116. According to weight, the percentage of Hy-
the correct explanatin of (A) drogen in water (H,0) is.
3)(A)istrue (R)is false 1) 44.45% 2)5.55%
4) (A) s false (R)is true 3) 88.89% 4)11.11%
D@Bargso (A) 1 Qo8 aaenaé’s PO0ET S 25 (Hedo DBS® TrEtas sEo dos?
S50t Sotnod. 1) 44.45% 2)5.55%
HD (R) : $%e 58 HeoRvoes REYRRSI] 3) 88.89% , 4 1L11%

117. The value of the universal gas constant R de-

s(ED0d. ®okHIY a;e»ae’)“séb 63(B38es pends upon the.
(Do Seeid. 1) temperature of the gas
1) (A) %80 (R) e» BoH ko $rdasn 2) Volume of the gas
(R)(A) & 506G D¢ 3) number of moles of the gas
2) (A) %060 (R) en Botd ard50 520 (R)(A) 4) None of these
% $OTS DBBes 5° FBYBE arainy) Joroso R Dewd &3
3) (A) a0 (R) @arsssm OFEHE Gotooh?

1) P50y D) e%@é
2) TPAN) HBITE0
3) TPe0) Go), JoeSe Qdogg

4) (A) o58550 (R) argd8m
112. The human eye forms the image of an object

at its.
1) retina 2) Cornea 4) bzt
3)iris 4) None of the above 118. Desalination of water is performend by.
S5 E0) 550 (98Doer) DB (Froso? 1) Lime-soda method
1) 38~ 2) SR 2) Permutit method
3) 265 4) DB 3) Ion-exchange method
113. Sound connot ravel through 4) Reverse osmosis
1) Gas 2) Vacuum D8 obes DB (ot K)Céé’ée'i’s aBrH0?
3) Liquid 4) Metal 1) 8% e P&
B0 8 weoe (HASrBosBH? 2) HBYBE EE

3) ®5»S Jsiyoé DGE
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119.

120.

121.The following expenditure shall be charged on

122.

4) 8%58) SRRV (zé?gé’aéé (BeeDIEes)
Milk is a colloid in which.

1) aliquid is dispersed in a liquid

2) asolid is dispersed ia liquid

3) a gasis dispersed in a liquid

4) some sugar is dispersed in water

ren (808 ISt Eerons?

1) ($Ho ($5Host8 %58 BoLhed

2) Hoo (EH0s8 7358 BotHe

3) Ta%0DH (BH0SE a5 Bothes

4) 3E)B HBstE SRS elavly

High boiling point of water is due to.

1) Weak dissociation of water molecules
2) High dissociationof water molecules
3) Hydrogen bonding among water mole
cules

4) Van der waals forces of attractio among
the molecule

A @BwE) ©&E Hon 3(;260263 S°8€007?

1) $8 wendHe pedrd 8)31365260

2) 8 wenHe ©dHE 3)3{)65260

3) & wenHe 0% ';&_P@‘Saa(% 20080

4) 386 TS wenHe Gy ©988ge 0

the consolidted fund of India, except.

1) Debit charges for which the government
ofIndia is liable

2) Salaries, allowances and pensions payable
to or in respect of supreme cout judge.

3) The pensions payable to or in respect of
Judges ofnay high cout

4) Th ye pensions payable to or in respect of
goveronrs of any state.

8o 8BS grEE oS G Hod &85
$505Q) 1Hoos?

1) g8 @’J%éso aPCﬁ?Sé $8°0F emoes méom

2) (@08 TadKrges QoS derey,
é@ge» 00D DY

3) oolape 3PS Trgahdrhe® BQoTE)D
DR

4) oo KSGEH BoTOYS IR

All following statements regarding the
privilleges of paliament members are correct
except.

20

1) Freedom from arrest

2) Freedom of attendance as witness

3) Freedom of Speech

4) Members individual freedom only alowed,
house as a whole do not have freedom.
FEI00eS Dghe DIPHsETe H020HOD 85
J&egeard) HioBod?

1) @Bée Sood ?socgzﬁ;)

2) g Fadh seHKo Kol ?socgz‘sl)

3) gr% 50D Dy

4) Xapgo HBKS sy SRS oo VS
Qerodd 7505{5‘:) B.

123.Article 17 & 18 provide.

124.

125.

1) Social equality 2) Economic equality
3) Political Equality ~ 4) Religious Equality
©BES 17 B0 1880w DrdeKn?

1) s H&edSE0

2) eegé ESEVLN T TS

3) crasfad BsSSEm

4) & J30e5S ™

In which of the following cases did the su-
preme court direct the compulsory registra-
tion of all marriages in India.

1) Daniel Lafifi Vs. Union of India

2) Ashok Kumar Vs. Union of Inidia

3) Seema Vs. Ashwin kumar

4) Sharada Vs. Dharam Paul

ePEBBEoE® 28R o) Daesste 6&@&5 (B35
500 w8red Hdo &G O Swet
3800067

1) SHS o) STYR 8S (HeHSe

2) &% HErE SRS GRS (DghE0

3) ST $NS @S HIrE

4) TG SR EBoFS

Which of'the following states has more than
one member of Parliament inthe lok sabha.
1) Meghalaya 2) Nagaland

3) Sikkim 4) Mizoram

Bod J8° & ooepd8 SPEIS® 88 Sam
©fBore Hghgen eTNH?

1) Sogrecd
3) %”oé&o

2) Jereerod
4) D&foro
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126.

127.

128.

129.

Preamble to the constitution of India Prom-
ised citizens to provide justice,

Choose the correct combination of words
used inthe preamble for whichjustice is sought
to be secured.

1) Social, Religious and Political

2) Economic, Religious and Political

3) Social, Economic and Political

4) Social, Economic and Natural

gREE PHro THEH0 WoBIR TN
B33 58 adyod. O SEI TS
©0BFHI (HI8E 392085 w08 Howofod
8BS Heres KHBowHE?

1) PSRy, H8 Hdcm wadh

2) 688, %, $H0a% Trwlad

3) ArErel, 6By, 0w Tresddd

4) PSS, eegé, S0B%» Hees

Which one among the following has the power
to regulate the right of citizenship in India.

1) The union cabinet

2) The parliament

3) The Supreme Court

4) Law commission

Bod TS DB BRIy KN Bdoago
D 00T EOA &I?

1) Sol& Ho®5go 2) PGS

3) o8’ 4) oo BDS

A mong the following whose term of office is
the longest.

1) President

2) Member of Lok Sabha

3) Comptroller and Auditor Gerneral

4) Vice - President

Bod 7°86° Q%6 HED w0 wEHZC?

1) o°gd

2) &%6:%a5 886

3) §0@£®5 508050 e9B¢8 28385

4) &IT°HHS

Next to Uttar Pradesh, which ofthe follow-
ing state has the hightest number of seats in
the Lok Sabha.

1) Bihar 2) Maharashtra

3) West Bengal 4) Tamil Nadu

&85 (HBS TPH0 TS wIRE &%E535 égv’w

21

130.

131.

8ONS oogio?

1) &6 2) HosFoug

3) H@yoBorrS 4) SPETD

How many days does the British parliament
took to pass the Indian Independence Billand
for bringing it into force

1)5 2)15 3)25 4) 35
gPEE G038 Ko20B0NS Dl BTrHoD
©Hes®8 BoHoosmdd DER FEos d)
BParen é}(néazé&&?

15 2) 15 3) 25 4) 35
Match the following.
List-1 List - II

A) This river system has the maximum
concentration of Harappan settlements
1) Burzahom
B) This Harappan site has
yielded an unusual cache of
silver ware and ornaments 2) Ahar
C) This Neolithic site of
Kashmir Yielded evidence
of Early Harappan contacts 3) Kunal
D) This site is described
as a pure copper age site
in India 4) Ghaggar Hakra
1) A-2, B-1, C-3, D4
2) A-4, B-1, C-2, D-3
3) A-4, B-3, C-1, D-2
4) A-2, B-3, C-1, D-4
238508000 ?
eder-1
Q) & 56 26&6@ boleTvil
3;250%;263 ©Sorv
0N &I om.
8) & eEar) [Frodo
OITBEDD F0& SHen
o805 e8I8eTeot
©oB0NOB. 2) &6
2) 2)56% & IErOHE
(@roBos® ey FESe
3) HoesS

-2

1) am‘:;wﬁ)

eSETCE) ©F)0TPoN.

&) grSSSEos® 80
Q3E)S oA cdwrio
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(@rodorr Sosatiod. 4) anégKPst 3) d-4, -3, -1, &-2
1) -2, -1, »-3, &-4 4) 9-3, -4, -1, &-2
2) -4, H-1, 2-2, &-3 134. Match the following.
3) -4, H-3, v-1, &-2 List-1 List - IT
4) -2, H-3, 1-1, &-4 A) First council at Rajagriha

132. Consider the following statements. 1) Sabakami
1) Harappans cultivated the rice but not sug- B) Second council at Vaishali
arcane 2) Vasumitra
2) Harappans used digging hoe but not plough C) Third council at pataliputra
3) Harappans used copper and bronze but 3) Mahakashyapa
not iron D) Fourth council in Kashmir
Which of the above statements is / are cor- 4) Mogaliputta Tissa
rect. 1) A-3, B-1, C-4, D-2
1)1,2,and 3 2)1and3 2) A-3,B-1, C-2, D-4
3)2 and 3 4) 3, only 3) A-1,B-3, C-2, D-4
B0 (HELID HBKBOBE? 4) A-1, B-3, C-4, D-2
1) &80y $06D Hobomd s IBHH @BBCH0?
$0803585s edae-1 erdee-2
2) L (BSEFV8 FREH SSFPROTE 5 D) TalfFHE” I TS 1) darsedd
KD SIErRROSBE 9) 3O BokS TS 2) S|
3) 55550 ToR KBASD B0 GHBPROTE R) FOOHEE® friS TS 3) HEED
D B0 % &) 2B rod TS 4) IKODY &J
2 HEDoSo® DB ¥BKA? 1) 9-3, &-1, d-4, &-2
1) 1, 2 $00 3 2) 1,500503 2) 2-3, -1, -2, &-4
3) 2, £B5» 3 4) 3,5m(SH 3) 9-1, 8-3, 2-2, &-4

133. Match the following. 4) @-1, -3, 1-4, &-2
List -1 List - IT 135. Who of the following wrote Indica inGreek
A) Brahmana 1) Pushan language.
B) Kshatriya 2) Marut 1) Strabo 2) Arrian
C) Vaishya 3) Indra 3) Justin 4) None
D) Shudra 4) Agni Bod BS° “odsS (A grRe® oodod
1) A-3, B-4, C-2, D-1 DHB?
2) A-4, B-3, C-2, D-1 1) (P& 2) ©80HS
3) A-4,B-3, C-1, D-2 3) &R 4) H8z%
4) A-3,B-4, C-1, D-2 136. Match the following.
23 8HBHE0? List-1 List - 11
ePdae-1 PP -2 A) Silappadikaram 1) Sattalai Sattanar
Q) (@5 1) HaeS B) Manimegalai 2) Tiruttokadevar
9) EBcH 2) & C) Sivagasindamani  3) [llango Adigal
2) 3% 3) =08 D) Tirukural 4) Tiru valluvar
&) &m( 1) oy 1) A-1, B-3, C-2, D-4
1) 2-3, H-4, -2, &-1 2) A-3, B-1, C-2, D-4
2) -4, H-3, 2-2, &-1 3) A-3, B-1, C-4, D-2

4) A-1, B-3, C-4, D-2
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137.

138.

139.

@EHB X0 ?

edee-1 erdee-2

Q) B s°8o 1) 388 386
) HHeBdHrS 2) é’ééaéﬁié&%;ﬁg
) 3Je DomeHd 3) agoﬁs ©&KS
&) 8BHBHES 4) 85BLY) a8
1) -1, -3, -2, &-4

2) -3, -1, 1-2, &-4

3) -3, -1, 2-4, &-2

4) -1, -3, 2-4, &-2

Badami Chalukyas built Hindu temples
inwhich ofthe following style.

1) Dravida 2) Nagara

3) Vesara 4) All the above
P eFoSen (8o O B3OS &rodw
Baredirodn Doeesn?

1) (&K 2) Srreoe

3) 3¥0° 4) Y

Consider the following statements.

1) Rastrakutas, Paramaras and Palas continu-
ously fought for more than one century

2) This fight is popularly known, tripartite
struggle

3) The fight was to capture and contnrol
kanauj

4) Rastrakutas were victorious in the struggle
Which ofthe above statements is / are incor-
rect.

1)1 and 4 2)land2

3)3 and 4 4) None

Bod (BB H0KBoSB?

1) oog Spenen, HBEPEen SO Feoren
&8 do°g0 Eo& QNS FPoeredd

2) & SPoreoo (DwBore (BB TodS BargE
oo

3) &0 éé&oiﬁﬁszﬁc‘éo Kaépwgszééo SoB%w
QoSo(@oHess &PoeTed

4) o°g Ertwen DeoeeroS® Dazcho JBoTSH
23 D) IS $6508?

1) 1 0w 4 2) 1 0852
3) 3 H0B0%0 4 4) H=
Match the following.

List -1 List - II

23

140.

A) Kanqa 1) Death anniversary
of'sufi saints

B) Dargah 2) Residence of sufi
saints

C) Sama 3) Tomb Shrine

D) Urs 4) Spiritual music and
dance

1) A-3, B-2, C-4, D-1
2) A-3,B-2,C-1,D-4
3) A-2, B-3, C-1, D-4
4) A-2, B-3, C-4, D-1
QBDBHX0?

eedee-1
Q) sP08
) cﬁqg

erdee-2
1) 8 PHo zégoé’a

2) ¥0d PEHeo daedo

Q) 3) Jed SoodBo

&) &b 4) oo Sohdo LoBcs» )50
1) -3, -2, d-4, &-1

2) 9-3, -2, d-1, &-4

3) -2, -3, -1, &-4

4) -2, -3, -4, &-1

Match the following.
List-1

A) Tenali Ramalinga
B) Dhurjati

C) Nandi Timmana

List - 11

1) Parijatapaharana
2) Manucharita
3) Panduranga
Mahatyam

4) Kalahasti
Mahatyam

1) A-4, B-3, C-2, D-1

2) A-4, B-3, C-1, D-2

3) A-3, B-4, C-1, D-2

4) A-3, B-4, C-2, D-1

D) Allasani Peddana

2388000 ?

edee-1 edee-2

) Bd TovdoN 1) JrBepENSeSe0
&) P& 2) o030\

) Jo& B 3) FothHBor Loeeso
&) 0T 103(%26& 4) S”OB/J"?(\Q) SosEs0
1) 9-4, -3, -2, &-1

2) 9-4, -3, d-1, &-2
3) -3, -4, >-1, &-2
4) -3, -4, 1-2, &-1
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141.

142.

Match the following.
List-1

A) Khudkasut

B) Pahikasut

C) Muzariyam

D) Kamin

1) A-4, B-3, C-2, D-1

List - 11

1) Artisans belonged
to low castes

2) Agriculture
labourers

3) Peasants who had
land with out agricul
ture implements.

4) Peasants who had
lands as well agricul
ture implements.

2) A-4, B-3, C-1, D-2
3)A-3, B-4, C-1, D-2

4) A-3, B4, C-2, D-1
@EHB X0 ?

edae-1

D) aDCSZTKng

epdeEe-2
1) 38 QYHEO T8

éé&&éﬁ BHeorod F0HITE

) P&esenS
D) Swesrdoo

2) 25?3?.631’0‘53 svéééae»
3) g0 HIL0ey

B ghrdoen &) B&en

&) 520

1) -4, -3, &-
2) d-4, 8-3,
3) -3, 8-4,
4) 9-3, -4, 1-2, &-
Match the following.
List-1

A) Dutch

B) Danes

C) Portuguese

D) British

4) grEHe&® Feen
SgHTAD GDHESeaeen
&%) S&en

1

1

List-1I

1) Cochin

2) Armagmaon
3) Pulicat

4) Serampur

1) A-3,B-4, C-1, D-2

2) A-3, B-4, C-2, D-1
3) A-4, B-3, C-2, D-1

4) A-4, B-3, C-1, D-2

238800 ?
edae-1

Q) &d

8) 6,55(\)

erdae-2
1) &%
2) @m&mé

UNIQUE STUDY CIRCLE
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143.

144.

145.

%) DA
&) 088

1) -3, 8-4,
2) 9-3, -4,
3) -4, -3, 2-2, &-1

4) -4, -3, d-1, &-2

Consider the following statements

1) Wllliam Bentinck took away Mysore from
wodeyars in 1831

2) Lord Ripon gave back mysore to wodeyars
in 1881.

Which of the satements give above is / are
correct.

1) 1, only 2)2, only

3) Both 1 and 2 4) Neither 1 nor 2
Bod (BB H0KBoSol?

1) OcHo BoBoE 1831° $Erbo $rod
8 e(BEoTRD.

2) o B85S 18816° $rcirboth HErEH
80A .

28 ad)d EHoed® d& JJX6?

1) 1,508 2) 2,575

3) 1, HH8c5%» 2 4) bzt

Consider the following statements.

1) Non - covernanted service was renamed
as ICS in 1861

2) In 1892 the upper age limit for civil service
exam was enhanced from 19 th 23 years.
Which of'the statements given above is / are
correct.

1) Lonly 2)2, only

3)Both 1, and 2 4) Neither 1 nor 2
Bod (BB H0KBoSod?

1) o8 afoads S 18618° ICS m™ %
SGyadod.

2) 18926° 29 &R HEEL KR SAPHOLE]
19 o0& 23 Jod&TreB oTeh.

28 ad)d EHood® d& J[X6?

1) 1, (& 2) 2,575

3) 1 o805 2 4) bzt

Which of'the following is the correct chrono-
logical sequence with regard to the tribal re-
volts.

3) HOs0E
4) 2orodres
»-1, &-2
»-2, &-1
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1) Khond Revolt 2) Munda Revolt 3) do. J&Troeaes  4) ABAHeneRers
3) Khasi Revolt 4) Naga Revolt 150. Who dissolved the Telangana regional board,
1)3,1,2,4 2)3,1,4,2 which forme as a part of six point formula.
3)1,3,2,4 4)1,3,4,2 1) Jalagam Vengal Rao
od T sreEsrddvo @Hg)od. 2) N.T.Rama Rao
1) #o& &&rbertn  2) Swore 8Biheren 3) Nedurumalli Janardhan Reddy
3) grdy &BrHeren 4) o 8EHeErRen 4) None of'the above
1)3,1,2,4 2)3,1,42 28) aronotd @véa&ewés grriore 8BS Beorres
3)1,3,24 4)1,3,4,2 @rodah 5% A5 88 Bevd?
146. When was Bhoodan movement begun in 1) seo IoNFTD) 2) IS, &.0K5Toe)
pochampalli, Nalgonda district. 3) It wTYSBE 4) PBISH
1) April 18, 1951 2) April 19, 1951 151. Match the following.
3) April 20, 1951 4) April 21, 1951 List-1 List - 11
$80% Ber DSodYSE® TS SiigEno AP A) Singur simha garjana 1) Siricilla
(@BogiHod? B) Orugallu Veeragarjana 2) Warangal
1) S 18, 1951 2) DS 19, 1951 C) Kadanabheri bahiranga
3) ADS 20, 1951  4) DS 21, 1951 Sabha 3) Nizamabad
147. The Gentlemen's Agreement was occurred on. D) Indur Simha garjana 4) Sangareddy
1) Feb 20, 1956 2) Feb 21, 1956 5) Janagaam
3) Feb 22,1956 4) Feb 23, 1956 1) A-1, B-4, C-3, D-5
Y DB 2080 P> 2BAE? 2) A-3,B-2, C-4, D-1
1) 250 20, 1956  2) Hs6 21, 1956 3) A-4, B-5, C-1, D-3

3) BRSO 22, 1956  4) 2SO0 23, 1956 4) A-4, B-2, C-5, D-3

148. Who proposed private member bill on 2 EHBODD?

sepaarate state for Telangana. wdze-1 ewdlze-2

1) Madabhushi Srinivasachary Q) ROKrE VOTHES 1) 1BY

2) M. Satyanarayana ) &dorey DB KPS 2) HBoKS

3) G. Venkata Swamy R) BE5580 @8rdol 885 3) Jepdrers

4) Narayana Reddy &) 20878 1oENES  4) YorrBd

Boorres (H858 Ko (335¢5300e8 Depid DS 5) esdreo

BBFBomE? 1) -1, H-4, -3, &-5

1) Sresgirdy @aedrartigen 2) 2-3, §-2, »-4, &-1

2) Qo. JEFTTADED 3) 2-4, -5, d-1, &-3

3) ﬁ.éoééaﬁig& 4) -4, -2, 1-5, &-3

4) PT°0HeBE 152. Who introduced the Telangana Bill in the Lok
149. Who formed special Telangana congress com- sabha.

mittee in 1969 ? 1) Sushil Kumar shinde

1) Konda Laxman Bapuji 2) Veerappa Moily

2) Vivek 3) Chidambaram

3) M. Satyanarayana 4) AK Antony

4) Shoyabulla Khan &%65¢56° Boorrem Hepido BB (HILEPH?

19698 (5858 Boorre seoid SHAJ I 1) 288 SH5r8 208 2) D) Ivowd

DTED BES? 3) DFoa8o 4) d.3. 058

1) &one og&ﬁ PR 2) S8
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153.

154.

Consider the following explanations regard-
ing the 2014 elections in Telangana.

1) TRS party joined hands with other like
minded parties to contest in elections

2) TRS party won 63 of a total 119
Assembley seats

3) TRS party won 14 of the total 16 Lok
sabha seats.

The rest were won by it's coalition partners.
1)1,2and 3 2)2and3

3) 1 and 2 4)1and3
Bworreed® 2014 AQPBeDH Yoobod (Bod
DHBerH HBKBOL0S

1) &.95.9%. &rf 988 Pfos® Vdeo EDO
2) @ngo 119 oo Fwe 63 Prod
ENValovsy

3) Emdo 16 &8 g e i 14 Prod
14 3(;&?@263 8.68.00. RenHBHod. DADID
o> éoég epvﬁéfgaﬁwe» ROTPow.

1) 1, 2 &8s 3 2) 2 HBas» 3

3) 1 Sbosw» 2 4) 1 HBcs» 3

One of'the following is not properly paired
regarding the recommendations of the
srikrishna committee.

1) Fifth Recommendation : Dividing the state
into two, Making Hyderabad as capital of
Telangana, and building a new capital for
Andhra Pradesh

2) Second recommendation : Dividing the
state into two, making Hyderabad a union
territory

3) Fourth Recommendation : Status quo to
keep th state united.

4) Third recommendation : Formation of
Rayala Telangana and Seemandhra

883 S8 2FBENOH $02050D Bobd T&S®
2,88 BB 28BHaEBL.

1) 085 e - m@;@& Borr DBoSEo,
eSTrerdb Sworres TeaRm Sohio,
8050 Bo|PHEEE &°F Toagrdd NSyl
2) BO&S ) : m@s@% QfRoNE0 o,
rSTeersd Boll O (Frodore Iohio.

3) TP LY TR BFEZOT GoLBotd
oﬁowécﬁ’gé’é

26

155.

156.

157.

158.

4) K08 2P AL, Boorres, Do
DTYED.

Which chapter of the Srikrishna Committee
report was made public with the intervention

ofthe High Court.
1) Chapter Six 2) Chapter Seven
3) Chapter Nine 4) Chapter Eight

8y &%5508° 858 S8 TSN 9
Slapenlof:-uelelatolelays

1) e9grRgofo et 2) egr5eHo Bated)

3) @m?go‘éao 5";)3&& 4) @m?go‘éao ISV A
The second five year plan was based on.

1) Mahalanobis Model

2) Vakil and Brahmananda's wage - Goods
Model

3) Harrod - Domar Growth Model

4) Solow Growth Model

B HoBRY, (HerdE (Bobd SHreae egrdorr
Bohasod?

1) SN0 Sk

2) 58S 5605w (@Ko BESo ~ 18 Swre
3) Seoeb - &6 HHEe Shaeae

4) 8 (558 IS

Which one of the following is the oldest oil
refinery in India.

1) Digboi 2) Koyali

3) Haldia 4) Mathura

(B0 T grBEEEoE® HB HT SIS S0
éa% goyredo.

1) &S 2) %659

3) 0ok 4) £538

Annapurna scheme launched by the Govern-
ment of India from April, 2000 was meant to
provide food secutity to the.

1) Rural poor living below the poverty line
2) Urban slum - dwellers living below the pov-
erty line

3) Senior citizens not covered under National
old age pension scheme

4) Victims of natural calamities who are forced
to migrate to otherareas

P88 (95080 MBS 2000 Lod (FPBodoDS
OHHPE BETo IHOE WIS FSE BIHw
ééé?go.
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159.

160.

161.

162.

1) m&@ﬁegéspéa BHID DDV (&g S0
2) mécs?g DL BKSD RESISESPENM Kaée?)sa
S0B8aeden

3) QTS VIS BEEoS® B JAHE 1BeFE
4) 388 (Frozrod I IHed S ©5)S
IbEese wrfBe

The Green Revolution in India was the out-
come of the efforts of who amongst the fol-
lowing

1) M.S. Swaminathan 2) C. Rangrajan

2) K.V. Kamath 4) Rakesh Mohan
8R0S’ 08 YPHo 8od 6t 256
Dchane HOS0?

1) o%o.d%. .%3&)3&?(;55 2) D.8oKoras

3) 8.9. =28 4) o8] IS

As we all know, the wholesale price Index is
divided into five main commodity groups.
Which ofthe following is NOT considered
separately as a group while calculating whole-
sale price Index (WPI)

1) Services and / or Production by public sec-
tor Units

2) Agriculture

3) Mining

4) Exports and Imports

3B BO_IER™ 5% $80 DrDE 0D (HEed
SDe Dhdeente YRoSadod. ITSDS
@R 20885y (WPI) 2 8808095 808 &
Q6B & ddooesrore HBKDoSEED?

1) $98 ?0355 Sy TITP Dden 58350
288

2) 25?326.31’0‘530

3) Soloh

4) AHdoeben & BrHdeden

The headquarter of RBI is situated at.

1) Delhi 2) Kolkata

3) Chennai 4) Mumbai

©6.8.0. BwE) (e sTRRHo IEE Gob?
1) &9 2) 8555

3) 33 4) 008

When did the 'naya paisa' introduced with the
decimal system of coinage, become 'paise’.
1)April 1, 1957 2) October 2, 1961

27

163.

164.

165.

3) June 1, 1964 4) April 1, 1965
B $7°08 edost @’:3%33@26 Jase e
AFPE> Pdenre $rdod?

1) RS 1, 1957 2) o828 2, 1961
3) e~ 1, 1964 4) JBS 1, 1965
From which year was the FEMA promul-
gated.

1) 1999  2)2000 3)2002 4)2003
FEMA & %05&)80 &0 (H8&osadob?

1) 1999 2)2000 3)2002 4)2003
Which of the following is equivalent to Na-
tional Income .

1) Gross Domestic product at market price
2) Net Domestic Product at factor cost

3) Net National Product at market price

4) Nat National Product at factor cost

8od A p8oH emrairds $Erdo D&?
1) &85 58 Bl &;@ c'ﬁﬁéﬁréo)@

2) R85 &6 g 56 BERBrE)3

3) &Bpe5 58 1 8L aavé@réo)@

4) 3556 58 5 VG wBFEG

Which of the following is the correct defini-
tion of the term National Income.

1) National Income means the total amount
of money Government earns only thjrought
direct tax collections every year.

2) It is the total value of all sorts of stocks
held by a country at a particular point of time
3) This is the meamsure of the volume of com-
modities and serivices turned out during a
given period counted without duplication
4HAll1,2,3

PBH wmraho oF Hrd8 80d TASE KBS
QLSS0 2B?

1) e85 eecho o (980&0 (98 HoNSyBo
B By Hrely oxoe EREEH SoF60D
S0do K.

2) 26 &8 (‘ng{é JSHochost ko OA &) o)
Ssro P8 Indo Dend?

3) cﬁ;ﬁ%{g’écﬁﬁ S%oe 8805285 39@ 26?3266363
oDoDD SHew HBATH DHo BBBTE0
RBooE)Sed.

4) BN
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166.

167.

168.

Consider the following statements about Terai.
1) It is a wet, swampy and marshy region
south of Bhabbar

2) THe Terail region extends to Nepal too
along with India.

3) Because ofits geographical features, no
crops can be grown in terali

Choose the correct answer using the codes
given below.

1)1 and?2 2)2and3
3)1and3 4) All of the above
B 80D & (8o (B HBKH0S0E?
1) 28 b5 $§gpore Ko $& Hdon DSBS
(@rodo

2) Boed® ([FPoB0 grESRE08E® Srtn JPS HEH
Ere DJ00D wod.

3) 82 PR ogere S50 Bocons®
Q0K Hotren Ho&obaED

8% B3waS G0 6IBrAod $BD
ISR DoHEa.

1) 1 8cs» 2 2) 2 HBas» 3

3) 1, $80%0 3 4) HNE

When the rivers originate from a hill and flow
in all directions, the drainage pattern is known
as 'radial'. This can be very well seen in the.
1) Amarkantak range

2) Mahadev Hills

Select the correct answer using the codes
given below.

1) 1, only 2) 2, ony

3) Bothe 1 and 2 4) None of the above
Soen o0& Kol INRACIAREC T Bt
(©5820DBH% DB Frde S “BEHS’
©0ETLD.

8od QS oer eere DD,

1) @505 088 $68  2) LH5rRS &)
§C0d 6I3Brhod DS ISdrEeIe
DoHE 8.

1) 1,508 2) 2,575

3) 1 S8 2 4) 3=
Consider the following statements about
Brahmaputra river and basin.

1) In Arunachal Pradesh Himalayan terrain
while in Assam, it flows over alluvial plains

28

169.

170.

2) Brahmaputra basin spans over Arunachal
Pradesh, Assam, nagaland, Meghalaya,
Sikkim and West Bengal.

Which of the above statements is / are cor-
rect?

1) 1, only 2)2, only

3) Both 1 and 2 4) None of the above
DS $6 SO HOTERE (FFodo Ko
&8 (806 (HBLI0 HdKBoSoB?

1) 0BerSSHRSE" & $6 Srdreoire grariko
1ot (H58P08. @IS 8d ol Fowerre
Doz (0358006,

2) EEYDS DOTHE (Fodo eSSBS,
®J)0, TTPerod, SoHrecd, 28)0 B
58 Borrd

2 RDotfes® D& $L6.

1) 1,508 2) 2,575

3) 1 $o8a 2 4) BN

This sphere of the atmosphere is crucial in
transmitting radio - waves.

1) Stratosphere 2) Exosphere

3) Thermosphere 4) Troposphere
BEDBr SSomed (FrSo SaoEoess
TEHBe08° & w580 Lodds .

1) @;esﬁ 85880 2) 355 85880

3) C;SSE& 658620 4) (%98 ©58e0
Which of the following regions receive more
than 200 cm of rainfall in India.

1) Western slops of Western Ghats

2) Western slope of Eastern Ghats

3) Southern slope of Himalayas

4) Meghalaya and Arunachal Pradesh
Select the correct answer using the codes

given below.
1)1,and 2 2) 1,and 4
3)1,2,and 4 4)1,2,3and 4

8od &S grESEEos® 200 0.8, o8
QD BEErS0 SBrEah (@roBo D&?

1) 530 8o H3) Teen

2) &%) 8o HB) Toen

3) Srdirecire S8teared

4) Srech HHBD WBEFESSHES

8P Ba3waS G 6IBrAod $DD
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171.

172.

173.

ISR DoHEa.
1) 1, 08w 2 2) 1 8% 4
3) 1,2 S8a%» 4 4) 1,2, 3 HH8%» 4

Consider the following statements about a
cloud Burst.

1) Cloud burst occurs only in hilly areas

1) Cumulonimbus clouds are associated with

the phenomenon

Which ofthe above is / are correct.

1) 1, only 2) 2, only

3) Both 1 and 2 4) None of the above

E @gy 080D (8ob %&?50065@260
HBRBoBo&?

1) 8 ab) 8ot (Frozres® SREh dihsiod.
2) éagﬁwé%oaﬁ Sosieen & a>§) 65@?\5510‘5;03_3
Loo%o 8O otron.

23 DU TBEE DB $BI6?

1) 1,508 2) 2,575

3) 1 S8 2 4) 230 =

Which of the following is / are species of hard-
wood trees.

1) Birch 2) Mahogany

3) Spruce 4) Redwood

Select the correct answer using the codes
given below.

1)1,and 2 2) 2, only, 3 and 4
3)1and3 4) All of the above
Bod 8s® K80 ) By erden dD?
1) 85) 2) oK

3) {EmS 4) BEHE

8% BBWES G0 6IBrAod BDD
P DoHEa.

1) 1, S06cs» 2 2) 2 HBsw 3,4

3) 1 605w 3 4) DY

Consider the following statements regarding
Acidic Soils.

1) In humid regions where rainfall is high, the
continued leaching of soils results in the re-
placement of calcium, magnesium, potassium
and sodiumions by hydrogen ions, leading
to the formatio of acidic soils.

1) Crops like millets, oats, peas and
soyabeans can tolerate high acidity

2) Lime application neutralises to some ex-

29

174.

175.

tent the aciddity in the soil.

Which of the above statements is / are cor-
rect.

1)1 and?2 2)land3

3)2and 3 4)1,2,and 3
eHJoed $on05od (Eod (SELIOD
HBRBoBo&?

1) zééﬂ‘%véo NESIaL 608 358 Er8YS
rosres® Svo JSos8 HVoR HOSom
98)010‘530, Ebf&&o‘éao, SPEFNA00 B V&0
ST TE RS @asry o 8 Bohasaran.
2) 0By, 8,63, BSen B AFSTDT) Hod
Dobren BT eNSH ééqamé'sﬁeoé)

3) o ensdher e éaégé’sﬁ) 8B §°0d
HBE SO0,

2 RDoes® D& J[X6?

1) 1, S6cs» 2 2) 1 HBas» 3

3) 2 HHBas» 3 4) 1, 2,580 3
Consider the following cities.

1) Mumbai 2) Delhi

3) Bangalore 4) Hyderabad

5) Kolkata

Arrange the following cities in decreasing or-
der of their population.

1)1,2,3,4,5 2)2,3,4,5,1
3)2,1,3,4,5 4H1,2,4,5,3

Bod Siforedy HBKBoSOR?

1) Sooaron 2) &@

3) BoKErD 4) 3reEoers

5) Sotee

2 Sifoeos o2& adrgr &1 (E008® ©h)08?
1)1,2,3,4,5 2)2,3,4,5,1
3)2,1,3,4,5 4H1,2,4,5,3

Ten- degree channel divides

1) Lakshadweep and Maldives

2) Lakshadweep and Minicoy

3) Lakshadweep Islands and maldives
4) Andaman Islands and Nicobar Islands
26 8o T3S Bod T Dgieiod?

1) oé&s‘é 0835w 2573332@@3

2) oFiE 508050 WISTD

3) oF 555 BHen 58w Eﬁﬁgg?@m

4) ©0&5rS BHen S0k J8%rE BHen
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176.

177.

178.

179.

180.

Which scheme has been selected for Prime
Minister's Award for Excellence in Public
Administration 2020 under the Innovation
(General) - Central Category.

1) PM Mudra Yojana

2) PM Jeevan Jyoti Bima Yojana

3) Stand UP India

4) UDAN Scheme

Bod a8 O Do 2020 (RIRE w8
96 AEHBR) 1l HYPE @&é@@cﬁﬁ &%%0 Dog
Bohasod?

1) B S0l Swiee @resd

2) [Heed Ho@ 5% 858 s Boresd

3) &po&S BoBair

4) UDANSgE0

Which state has topped under the Best state
category at the third National Water Awards.
1) Uttar Pradesh 2) Madhya Pradesh
3) Karnataka 4) Gujarat

o8 B OB warthes® National Water
Awards ¢g%o oog darros® & ovgo
@@1@;26065 OAoH?

1) 688055 2) SouHEE

3) éc-sséaé 4) Haoes

What was the total number of seats in 2022
Goa Assembly Election.

1) 60 2) 30 3)50 4) 40
2022 Far eod) YNBSS Fwdo ey Qdogy
Qoes?

1) 60 2) 30 3) 50 4) 40

The frist - ever road project, amde out of
waste steel has come up in which city of In-
dia.

1) Surat 2) Gurugram

3) Hyderabad 4) Jamshedpur
PEEB LS & Ji5Bos® zéegg é,éagﬁs 206&0236
SIS S0 (PR ¢od?

1) ¥58 2) BT

3) rdoeerd 4) 2o0Rn&EHE

Which airport has been adjdged as the 'Best
Airport'under the General Category at wings
India 2022.
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181.

182.

183.

184.

1) Rajiv Gandhi International Airport

2) Chhatrapati Shivaji International Airport
3) Kempegowda International Airport

4) Netaji Subhash Chandra Bose
Interenational Airport

Dofyy moddsr 2022 & adsS SeRd 8o
€850 QIPTREDOTP & DXPTFCH0 JoRZoh?
1) oodS rod @oécgégaoﬁo Qdreare(EcHo

2) PS8 B BoLT)RIS Lree(FHo

3) Boois @oécgéo‘éo Qe FoDho

4) JIeod Sogrl Sol$SS @oéo;ééob’o
DEEHo

Reserve Bank of India (RBI) has cancelled
the license of People's Co-operative Bank

Limited based at , Uttar Pradesh.
1) Varanasi 2) Gorakhpur
3) Kanpur 4) Mathura

Besby ar508 @h moBaSr HYS) &°- wBTAS
508 DDBE T&) BRI B Bod. wowd
o8 635 (BB i wob?

1) oe8eed 2) 8556

3) =26 4) S8

Which bank in India has won the IFR Asia
Award for Asian Bank of'the Year 2021.

1) Kotak Mahindra Bank 2) HDFC Bank
3) ICICI Bank 4) Axis Bank
PESBI0SED & angoE NNOHS ea°§o§ @D &
5058 2021 TFResdose 080 ReothH0s?
1) 8%:8 SHirole e5082) HDFC erg08

3) ICICI ex508 4) oS8R 2508
What is the interest rate fixed by EPEO on
provident fund deposits for the financial year
2021-22?

1)8.25% 2)8.10% 3)8.50% 4) 8.35%
2021-22 o088 B0HETA8 (R0 Ho&
&2 EPEO oo dgomoibadsd zﬁ% Ben
Qoes?

1)8.25% 2)8.10% 3)8.50% 4) 8.35%
State Bank ofIndia (SBI) will set up an In-
novation, Incubation and Acceleration Cen-

tre (ITAC) at.
1) Mumbai 2) Delhi
3) Bengaluru 4) Hyderabad
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185.

186.

187.

188.

'ééfi_ a8 & zolclr (IR.8.0) aﬁifﬁoﬁﬁ
aoéa?gﬁo“:ﬁ ©o& oﬁ;végeééﬁ 2068 (ITAC)
AHE Dowyen Bos?

1) $008 2) &9

3) BorHErd 4) rsooers

The Reserve Bank of India (RBI) has directed
which ofthe following payments Banks to
stop the onboarding of new customers.

1) Paytm payments Bank

2) Airtel payments Bank

3) India post payments Bank

4) Fino payments Bank

82363 %508 e6h zodce Bob B DHF0ok)
oS0t £ £ HE ©F QoA
QOISO EB0D06?

1) Paytm Do) eego8

2) dand &S '535305(3 508

3) 20805 @‘Sé 'ﬁﬁaoe‘):) 2508

4) HSF %530&51) 508

Which Indian Space-tech startup has
launched its first commercial satellite
'Shakuntala' from Space X's falcon-9.

1) Pixxel 2) Dhruva Space

3) Bellatrix Aerospace 4) Teamindus

'(5035 OBy PeS-9 T8 Hod EPBESBE0 BwE)
D )R-88 BB B3 I0BE aeedeyy G0
‘FoBHE00” L (FrEododod.

1) &S 2) (85 '(50035

3) Bep@§) aonssfoﬁ 4) 8% 5osrD
Which airline has become the first airline in
the country to land aricraft using the indig-
enous navigations system GAGAN?

1) Air India 2) Indi Go

3) Go First 4) Spicejet

338 ANES 23S GAGAN&SErAoD
Ddrrod o508 S5oEos® Lot D
QXS ASPS éoé S volals) 3(;26065 AOQoB?

1) QowE zo&asw 2) 28RS

3) AParg 4) 2RBES
According to the SIPRI report, titled "Trends
in world Military Expenditure, 2021", India's
military expenditureisthe  highest in the
world.
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189.

190.

191.

1) First 2) Second

3) Third 4) Fourth

SIPRI 9368 (©Hs°80 “Bof) aS $8§ eowd
@5{3330&555 - 2021 &° gp88B0 & 5(;26065
&od?

1) 3088 2) BokS  3) HoreES 4) TP
'Digital India RISC-V Microprocessor (DIR-
V) Programme' aims to create Microproces-
sors and achieve silicon and design wins by
which years.

1)2023  2)2025 3)2030 4)2050
&6 mo8ose RISC-V D& (@26 (DIR-
V) £8re& DoE° (30206 o QYostso Sodas»
d Jod&)Bo B8 dOS HBX» EZS
Qadirodn JHoSEo ogsore ?oéqwaé)o&)?
1)2023  2)2025 3)2030 4)2050
Which is the first vaccine to be granted emer-
gency use authorisation in India, for children
in 5 to 12 years age group.

1) Covaxin 2) Covishield

3) Novavax 4) Corbevax
8BRS0t 5 Koo 12 L0D& TP DY) Ko
HYOB @éézééé AT @HEPTeR) HHoes™dd
3% BB S B?
1) §5a7°§“)5

3) Ssawaw%

Choose the correct statement.

1) Emblem of the vishnukundinas - Lion

2) Rajjuka Means Land surveyar

3) Vikramendra varma is thrisamudradipati
4) Satavahanai inscriptions roaring lion was
found.

1) 1, only 2) 2, only

3)1 and 2 4) 3 and 4

DBFS (HEL5D JoHEosd?

1) A3y Holde Trasinll - Roeo

2) 6&@% ©dre @go [Se1A éé(go‘éag

3) DEDOE S (BIS(EH H8 0% H
Lot

4) PEIHe FdToS ﬁ203 Qoo

2) 898
4) svae)aw%

BT,
1) 1,508 2) 2, &rED
3) 1,580 2 4) 3 $8050 4
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192. Where is Erukeshwara temple. 199. Match the following.
1) nagunuru 2) Pillalamarri List-1 List - IT
3) Panagallu 4) Ganapuram A) Kakatiya Newspaper 1) 1925
ABBEG BarecHo EE Gob? B) Golkonda newspaper 2) 1930
1) S5H8rS 2) deod C) First library in Teleangana ~ 3) 1923
3) FSien 4) KeaHBo D) Andhra Janakendra Sangam 4) 1872
193. Who collected the items in salar jung Mu- 1) A-1, B-2, C-3, D-4
seum. 2) A-4, B-3, C-2, D-1
1) Salar Jung-I 2) Salar Jung - 11 3) A-3,B-2, C-1, D-4
3)SalarJung-1II  4)Salar Jung - IV 4) A-2, B-1, C-4, D-3
JreeSezon 25)0*;380‘500@35?0 IDod 5B 238K ?
£5B0DT5? rdze-1 rdze-2
1) ew8 aof -1 2) erb 2oh -2 D) se8BGH &R DD 1) 1925
3) derb 20 -3 4) erb 2oh -4 8) F&%0t Smgo D6 2) 1930
194. When was the first medical school established Q) Boorre &9 Z@d 3) 1923
in Telangana. &) ol 25808 Hogwo 4) 1872
1) 1844 2) 1848 3)1839 4)1836 1) d-1, H-2, -3, &-4
Boomrens® [00E58 FplES ‘65027&'5_ ASPEd 2) -4, -3, 1-2, &-1
.3;%30523&0&? 3) ¥-3, -2, d-1, &-4
1)1844 2) 1848 3)1839 4)1836 4) d-2, H-1, »-4, &-3
195. What was the name of the bank started by | 200. Assertion (A) : Founder ofthe asafjahi dy-
izamin 1942. nasty is Nizam ulmulk.
1) National Bank 2) Nizam Bank Reason (R) : Grand father of Nizam -ul-mulk
3) Asafjha Bank 4) Hyderabad state Bank kilich khan has played a key in AD 1687
194268° Jero (HB0oDS 2508 D5 DE? Gokonda Attack
1) IS aego8 2) dewo &rg08 1) Both (A) and (R) are true and (R) is the
3) 0% @ w508 4) FrEToars e wrgos correct explanationto (A)
196. Who estasblished the mercantile bank of 2) Both (A) and (R) are true but (R) is not
Hyderabad. the correct explanatin of (A)
1) William Palmer ~ 2) Bajan Lal 3)(A)istrue (R)is false
3) Chandu Lal 4) Raja pannalal setti 4) (A)is false (R) s true
TPETerE SB)0BS ergoB IS 338)0{:063? DEE0 (A) 1 0d3Herd Feloresy ﬁgééatﬁa
1) dc%Ho FHd 2) 2238e°S Do &S 08,
D domers ) mEETens B T (R) : dero &8 08 o6 80548
197. When was the Zila Bandi introduced.
1)1860  2)1862 3)1865 4) 1868 E.8. 16878 Aemor wrds® dof g
BP0l AP (BIL1YDECH? Do,
1) 1860 2) 1862 3) 1865 4)1868 1) (A) %80 (R) e» BoH a@ddo Lrdasn
198. In which year mahaboob Ali Khan formulated (R)(A) & 38&05 dH5Bes
the Mulki rules. 2) (A) 8w (R) e» Both a@3K0 2 (R)(A)
1) 1866 2) 1888 3)1899 4) 1906 B DBDD DdBes s
Hoeard ©dgrS $nd), SrH%H D o.8t 3) (A) a550 (R) evamgidsn
Srerofomt? 1) (A) oars550 (R) o5
1) 1866  2) 1888 3)1899 4) 1906 ok ok
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